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Question Id : 3421237395 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

The following table shows the mumber of viewers of four different TV channels, namely, JIO,
ZEE, SONY and COLORS in six different cities A-F, along with the ratio male (M) to females
(F) among them. Based on the data in the tables, answer the questions that follow:

City-wise Details of Viewers

Viewers of TV Channel
City 10 ZEE SONY | COLORS
Total | M:F | Total | MCF [ Total [M:F | Total | M:F
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Sub questions

Question Number : 1 Question Id : 3421237396 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the average number of female viewers of Zee TV taking all six cities together?

1. 1242

]

. 1262
3. 1282

4. 1302

Question Number : 2 Question Id : 3421237397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The total number of female viewers of COLORS TV from city C is approximately % of
the total number of female viewers of JIO from city A.

1.82
2. 88
3.96

4. 108

Question Number : 3 Question Id : 3421237398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The average number of male viewers of SONY TV from all the six cities together is
approximately % of the six cities of viewers of JIO TV from city D.

1. 30

Question Number : 4 Question Id : 3421237399 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The number of male viewers of ZEE TV from city C is approximately % more than
the number of female viewers of SONY TV from city F?

1.124
2.15.2
3.173
4.18.6

Question Number : 5 Question Id : 3421237400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the difference between the total number of male viewers and female viewers of ZEE TV
from all six cities?

1.710
2.704
3.706

4.708

Question Id : 3421237395 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 3421237396 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 1242
2. 1262
3.1282
4. 1302

Question Number : 2 Question Id : 3421237397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 82

3.96

4. 108

Question Number : 3 Question Id : 3421237398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 4 Question Id : 3421237399 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.124
2.152
3,115

4.18.6

Question Number : 5 Question Id : 3421237400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.710
2.704
3. 706

4.708

Sub-Section Number : 2
Sub-Section Id : 342123295
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421237401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Terms Meaning
A Declm‘at_n‘e I. | The retention of information about the where and when of life's happenings
Memory
B. el Il | Astudent's general knowledge about the world
Memory G 2

The conscious recollection of information such as specific facts or events

. |Benchs Memory: | 1 that can be verbally communicated

D. |Semantic Memory | IV. [Knowledge in the form of skills and cognitive operations

Choose the eorrect answer from the options given below:
[. A-IV, B-IIL, C-I1, D-I
2. AL B-IV, C-1, D-II
3. A-IL, B-IIT, C-IV, D-1
4. AL B-IL C-IIL, D-IV

Question Number : 6 Question Id : 3421237401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. A-IV, B-IIL, C-II, D-1I
2. A-IIL B-IV, C-I, D-II
3. AL B-IIL, C-IV, D-I

4. A-L B-II, CII1, D-IV

Question Number : 7 Question Id : 3421237402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Use of learning strategies and tactics reflects:

1. Intellectual Humility

[

. Overlearning
3. Rote laerning

4. Meta cognitive knowledge

Question Number : 7 Question Id : 3421237402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 3421237403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
Swayamprabha DTH Channel No Channel Name
A | Channel - 03 I. |VIDHIK
B. |Channel - 06 II. JARYABHATT
C. | Channel - 07 III. [EAUTILIYA
D. |Channel - 08 IV. |PRABANDHAN

Choose the correct answer from the options given below:

1. A-II, B-IV, C-III, D-I

(]

. A-III, B-I1, C-IV, D-1
3. A-1IV, B-1, C-1II, D-11

4. A-IV, B-1II, C-II, D-I

Question Number : 8 Question Id : 3421237403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IL, B-IV, C-111, D-1

[

. A-IIL B-11, C-1IV, D-1

[

. A-IV, B-1, C-III, D-II

4. A-IV, B-111, C-1II, D-I

Question Number : 9 Question Id : 3421237404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the explanations of Pedagogical Teacher's Dilemmas of
constructivism in practice?

A. Developing deeper knowledge of subject matter

B. Managing new ideas of discourse and collaborative work in the classroom

C. Honoring students attempt to think for themselves which remaining faithful to the accepted
disciplinary ideas

D. Mastering the art of facilitation

E. Confronting issues of accountability with various stakeholders in the school community

Choose the correct answer from the options given below:

I.A, B,CandD only
2.D, and E only
3.A,Band C only

4.B.Cand E only



Question Number : 9 Question Id : 3421237404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 10 Question Id : 3421237405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A physics instructor needs to create International videos demonstrating Newton's law of motion.
Which tool should the instructor use to record, edit and share these videos with students.

L. Flipgrid
2. Camtasia

3. Padlet

4. Google forms

Question Number : 10 Question Id : 3421237405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 11 Question Id : 3421237406 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research designs would allow systematic elimination of extraneous
varlables other than those you are interested in?

. Longitudinal research
2. Qualitative research
3. Correlational research

4. Experimental research

Question Number : 11 Question Id : 3421237406 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 12 Question Id : 3421237407 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Which among the following research designs are likely to suffer from the problem of sample
attrition?

A. Cross-sectional studies
B. Longitudinal studies
C. Panel studies

D. Cohort studies

Choose the correct answer from the options given below:

I. Aand B only
2.A,Band D only
3.A, Cand D only

4.B, Cand D only

Question Number : 12 Question Id : 3421237407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 13 Question Id : 3421237408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



When the characteristic like age, sex or race of the researcher affect the behaviour of a
participants in a study, it refers to

1. Biosocial effect
2. Psychological effect
3. Hawthorn effect

4. Evaluation apprehension

Question Number : 13 Question Id : 3421237408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 14 Question Id : 3421237409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the ordinal variables.

A. Rank of army personnel
B. Religion

C. Caste

D. Annovance level

E. Temperature in Celsius

Choose the correct answer from the options given below:

1. A, B, CandD only

(]

. B and C only
3. A, and D only

4. D and E only

Question Number : 14 Question Id : 3421237409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 15 Question Id : 3421237410 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a situation where a researcher wants to test whether the population mean is lower than some
hypothesized value, the researcher would employ-

1. Z- tailed test
2. Left tailed test
3. Right tailed test

4. F- test

Question Number : 15 Question Id : 3421237410 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 16 Question Id : 3421237411 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The semiotic study of Charles Pierce is in its approach:
1. Experimental

2. Historical

[

. Quasi legal

4. Quasi- scientific

Question Number : 16 Question Id : 3421237411 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 17 Question Id : 3421237412 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The concept of explanatory journalism attempts to answer more-

1. “Why’ questions

[

. “Where’ questions

(5]

. “Which’ questions

4. *Who’ questions

Question Number : 17 Question Id : 3421237412 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 18 Question Id : 3421237413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are statements made by scholars in relation to media-audience equations?

A. New media are natural and social

B. People are polite to well-designed computer

C. The relationship between communication gadgets and people is passive
D. The new media technology has created a kind of techno-spirit

E. The techno-media environment is an ideal environment

Choose the correct answer from the options given below:
1.A,D,Eonly
2.C, D, E onlyu
3.B,.C,E only

4.A,B,C,Donly

Question Number : 18 Question Id : 3421237413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 19 Question Id : 3421237414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct chronological order of the following inventions related to communication:

A. Cable television
B. Telegraph

C. Telephone
D.MP3

E. Phonograph

Choose the correct answer from the options given below:
I.A,C.D.B.E
2.B,C,E,A,D
3.C.AB.D.E

4 EACBD

Question Number : 19 Question Id : 3421237414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.4,C,D,B,E

2.B.C,E.AD
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4. E.ACBD

Question Number : 20 Question Id : 3421237415 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Concept Description
Disinformation [. |International suppression of contradictory ideas

Black propaganda | II. | Transmission of information may be or may not be false

White propaganda | III. |False information about the opposition

ola|w|s

Gray propaganda | IV, |Strategic transmission of lies

Choose the correct answer from the options given below:

1. A-L, B-IL, C-1IL, D-IV
2. A-11, B-II, C-IV, D-1
3. A-IIL B-1V, C-1, D-I

4. A-IV, B-1, C-I1, D-III

Question Number : 20 Question Id : 3421237415 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. AL, B-II, C-I1, D-IV
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2. A-11, B-III, C-1V, D-1
3. A-IIL B-1V, C-1, D-1I

4. A-IV, B-1, C-11, D-III

Question Number : 21 Question Id : 3421237416 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

In an examination a student scores 4 marks for every correct answer and loses | mark for every
wrong answer. A student attempted all the 200 questions and scores 400 marks. The number of
questions he answered correctly was:

1. 60
2.100
3.120
4.150

Question Number : 21 Question Id : 3421237416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. 60

2. 100
3.120
4. 150

Question Number : 22 Question Id : 3421237417 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the selling price of Rs 235 results in a discount of 6% on the marked price of an item, at what
price should the item be sold to offer a discount of 15%?

1.Rs 199.5
2.Rs206.5
3.Rs212.5

4.Rs 215

Question Number : 22 Question Id : 3421237417 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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1.199.5 7Y
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Question Number : 23 Question Id : 3421237418 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

One term in the number series is wrong. Find out the wrong term?
325, 259, 202, 160, 127, 105, 94

1. 94

[
[ —
2
-1

Question Number : 23 Question Id : 3421237418 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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325, 259, 202, 160, 127, 105, 94

1. 94

[

127

3202

Question Number : 24 Question Id : 3421237419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, if the word *FLOUT’ is coded as *IIRRW”, then the word *CLING’
will be coded as:

1. ENKPI
2.EHLIK
3.FLILK

4. FILKJ

Question Number : 24 Question Id : 3421237419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. ENKPI
2.EHLIK
3.FLILK

4. FILKJ

Question Number : 25 Question Id : 3421237420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

6 Pumps, working 12 hours a day, can empty a tank in 15 days. How many hours a day must 8
pumps operate to empty the tank in, days.

1. 13 hours
2. 14 hours
3. 15 hours

4. 16 hours

Question Number : 25 Question Id : 3421237420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 26 Question Id : 3421237421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"No one has ever been able to prove that psychic powers do not exists. Therefore it is proved that
psychic powers do exist. Identify the fallacy in the above arguments.

1. Appeal to ignorance
2. Hasty generalization
3. Slippery slope
4. Equivocation

Question Number : 26 Question Id : 3421237421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 27 Question Id : 3421237422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Two propositions are contradictory if

A. They cannot both be true

B. Of the pair, exactly one is true and exactly one is false
C. They can both be false

D. They cannot both be false

Choose the correct answer from the options given below:

1. Aand C only

[

. A, B and C only
3. B only
4. A. B and D only

Question Number : 27 Question Id : 3421237422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 28 Question Id : 3421237423 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent?

A. Some non-intelligent animals are non-apes

B. Some apes are not intelligent animals

C. Some apes are non - intelligent animals

D. Some non - intelligent animals are not non-apes

Choose the correct answer from the options given below:

1. A, B and C only

[

. A and C only

(5]

.Aand D only
4. B. C and D only

Question Number : 28 Question Id : 3421237423 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 29 Question Id : 3421237424 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is arranged in the order of decreasing extension?

1. Mathematics, arithmetic. numbers, prime numbers
2. Prime numbers, numbers, arithmetic. Mathematics
3. Arithmetic, mathematics, numbers, prime numbers

4. Numbers, prime numbers, arithmetic, mathematics

Question Number : 29 Question Id : 3421237424 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. JBIOT. IO, WU/ 3, UTST TasATd

Question Number : 30 Question Id : 3421237425 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the arguments is fallacious because the middle term is pervaded by the absence of the
major term instead of ifs presence:

1. The hill has fire because it is knowable
2. Sound is eternal because it 1s produced
3. Sound s eternal because it 1s audible

4. Sound is quality because it is visible

Question Number : 30 Question Id : 3421237425 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 31 Question Id : 3421237426 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Web 2.0°, a second generation of the Internet, can best be described as:

. A software package developed by Microsoft and available at a discount to teachers

2. An approach to the Internet in which users can share thoughts, opinions and ideas in a free
and open forum such as blogs, wikis and podcasts

3. An approach to the Internet in which websites and apps can process information in a smart
human-like way through technologies like Machine Learning, Big Data, Decentralized

Ledger Technology, etc

4. Faster Internet for big business

Question Number : 31 Question Id : 3421237426 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 32 Question Id : 3421237427 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Each webpage is assigned a (n) , an address that identifies the location of the page on the
Internet.

. Internet Protocol (IP)
2. Uniform Resource Locator (URL)
3. Top-Level Domain (TLD)

4. Hyper Text Transfer Protocol (HTTP)

Question Number : 32 Question Id : 3421237427 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 33 Question Id : 3421237428 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
(File Extension) (File Type)
A | dox I. |Lage file
B. |.ipe II. |Video file
C. |.mp3 IIT. | MS-WOED file
D. |.mov IV. | Audio file

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-II, D-IV

3

. A-IIL B-1, C-1IV, D-1I

sl

. A-IV, B-1, C-III, D-II

4. A-III, B-IV, C-1, D-1I

Question Number : 33 Question Id : 3421237428 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. A-TV, B-1. C-III, D-IT

4. A-II1, B-IV, C-I, D-1I



Question Number : 34 Question Id : 3421237429 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true with reference to cybersecurity?

A. Incident response in cyber security involves identifying vulnerabilities and patching them

before an attack occurs
B. CERT-In acts as an early warning system for cyber threats and attacks in India

C. ‘Tor’ is an acronym for “The Onion Router’. which is a web browser that enables people to
communicate anonymously online to prevent bad actors from tracking their Internet activity
D. Using a Virtual Personal Network can help secure a network by encrypting the data

transmitted over it

Choose the correct answer from the options given below:
[. Aand D only
2. Aand C only
3.Band D only

4.Band C only

Question Number : 34 Question Id : 3421237429 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 35 Question Id : 3421237430 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L) represents a number L in base-M number system then identify the correct ascending order

of the following numbers A-D when converted to decimal number system

Choose the correct answer from the options given below:
.D,B,C.A
2.B,D,C,A
3.AB.C,D

4.D,B,A,C



Question Number : 35 Question Id : 3421237430 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. (203),
B. (100001),
C. (114);

D. (1012);

Choose the correct answer from the options given below:

1.D,B,C,A
2.B,D,C,A
3.4BCD

4.D,B,A,C

Question Number : 36 Question Id : 3421237431 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Radioactivity in drinking water can be caused due to pressure of naturally or anthropogenically
occurring radionuclides. Which one of the following is a naturally occurring radionuclides with a
possibility to contaminate drinking water?

. Uranium

2. Plutonium

3. Radon

4. Strontrum

Question Number : 36 Question Id : 3421237431 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 37 Question Id : 3421237432 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not released during an earthquake?
1. P - Wave
2. Q - Wave
3.5 - Wave

4. Love Wave

Question Number : 37 Question Id : 3421237432 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YU & R FAfRId T i Tt av1 gl S gl § 2
1. Gl- 99 (P- Wave)
2. F.- dd (Q- Wave)
3. UY-dd (S- Wave)
4. 9999 (Love Wave)

Question Number : 38 Question Id : 3421237433 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is used to measure and monitor air pollution?

1. RADAR

[-2

. SONAR
3. LIDAR

4. SODAR

Question Number : 38 Question Id : 3421237433 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T VG 1 AU 3R AR S o fere e & 9 fdwer T fobar o g2
1. V3R (RADAR)
2. ¥R (SONAR)
3. IR (LIDAR)

4. TSR (SODAR)

Question Number : 39 Question Id : 3421237434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In nuclear reactors, ‘moderators’ are substances.

A. That slows down neutron

B. That limits the chain reaction

C. That helps to sustain the chain reaction

D. Without which chain reaction in most nuclear reactors would stop
E. Such as heavy water or D,O

Choose the correct answer from the options given below:

1.A,B.CandD only

I3

A, C,DandE only

[N

.B. C and D only

4. A.B and E only



Question Number : 39 Question Id : 3421237434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 40 Question Id : 3421237435 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the level Carbon dioxide (CO,) during pre-industrial era?
1. 200 ppm
2. 280 ppm
3. 350 ppm

4. 420 ppm

Question Number : 40 Question Id : 3421237435 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ud- 3 T H Hla- S5 HaIES (CO,) BT KR T U

1. 200 ppm

(]

. 280 ppm
3. 350 ppm
4. 420 ppm

Question Number : 41 Question Id : 3421237436 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The ancient grammarian Panini was a student at which of the following ancient places of
learning?

1. Takshashila
2. Nalanda

3. Sridhanya Katak

4. Odantapuri

Question Number : 41 Question Id : 3421237436 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 42 Question Id : 3421237437 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



One of the major recommendations of the National Education Policy, 2020, is the establishment
of for restructuring higher education in India.

. Science universities
2. Autonomous colleges
3. Technology clubs

4, Higher Education Institutions clusters

Question Number : 42 Question Id : 3421237437 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 43 Question Id : 3421237438 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The major initiatives of the union government during the XI plan in the higher education sector
were:

A. Establishment of 14 world class universities
B. Diversion of funds to private universities better performance

C. Strengthening of science based higher education and research in universities
D. Restructuring of different councils

E. Financially supporting uncovered state universities and colleges
Choose the correct answer from the options given below:

[.A,B, Conly
2.A,C,Eonly
3.B.C.Donly

4.D, E only

Question Number : 43 Question Id : 3421237438 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 44 Question Id : 3421237439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are public sector funding agencies for research in India?

A. TATA Trust
B. ICAR
C.ICHR
D. ICMR
E. Population Foundation of India (PFT)
Choose the correct answer from the options given below:
1. A, B, Conly
2.B,C,Donly
3.D.E only

4. A, C,E only

Question Number : 44 Question Id : 3421237439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 45 Question Id : 3421237440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

Forerunner college University

Muir Central College| I. |Lucknow University

Oriental College II. |Allahabad University

University College 1. | Aligarh University

olo|w|»

Canning College IV. |Panjab University

Choose the correct answer from the options given below:

1. A-I, B-II, C-IIL, D-1IV

3

. A-II, B-1II, C-1IV, D-1

sl

- A-IILL B-1V, C-1, D-II

4. A-IV, B-1. C-II, D-ITI

Question Number : 45 Question Id : 3421237440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. A-II, B-TII. C-IV, D-I
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-A-IIL B-1V, C-1, D-1I

4. A-IV, B-1, C-1II, D-III

Sub-Section Number : 3
Sub-Section Id : 342123296
Question Shuffling Allowed : No



Question Id : 3421237441 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension

The Andaman and Nicobar Islands sitwated between 6° and 14° latitudes and 92° and 94
longitudes in the Bay of Bengal have been inhabited for thousands of years going back to the
Middle Palaeolithic age. Through the vast majority of this time the inhabitants of these islands
maintained their separated existence diversifying into distinct linguistic, cultural and territorial
groups. In the mid-nineteenth century CE, for the first time they came into sustained contact with
the outside world. Today, they are mainly consisted of the Great Andamanese tribes like the
Jarawa, the Onge and the Sentinelese and the Nicobarese consisting of the great Nicobarese and
the Shompens. Host to the tropical climate nourished by both the south-west and the north-east
monsoons, the Union Territory is at present divided into three revenue districts with Port Blair as
its capital.

Andaman and Nicobar Islands dwellers have migrated and settled down from various parts of
India and Burma as well. The culture of Andaman and Nicobar Islands is distinct and unique and
comprises mainly two types of inhabitants-Indians and Natives. The former are mainly from the
Indian Mainland especially from areas like Punjab, West Bengal, Tamil Nadu, Myanmar and Sri
Lanka. The Natives are what makes Andaman and Nicobar Islands different from other parts of
the country. They are the main reason why these islands have a wild aura about them.

Sub questions

Question Number : 46 Question Id : 3421237442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following communities has connection with the Andaman and Nicobar Islands?

1. Khasi
2. Santhal
3. Bodo

4. Jarawa

Question Number : 47 Question Id : 3421237443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following does not help the inhabitants to continue their distinctive identity in
Andaman and Nicobar Islands?

. Linguistic aspect
2. Cultural aspect

3. Territorial aspect
4. Nutritional aspect

Question Number : 48 Question Id : 3421237444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following groups of people of Andaman and Nicobar islands have migrated from
Indian mainland, Myanmar and Sri Lanka?

I Indians

2. Natives
3. Nagas

4, Marwaris

Question Number : 49 Question Id : 3421237445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Andaman and Nicobar Islands

1. 1s a cluster of small beatiful countries
2. 1s a cluster of several beautiful islands

3. is a cluster of few villages

4. 15 cluster of deserts

Question Number : 50 Question Id : 3421237446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Port Blair is a part of:

|. Kerala
2. Andhra Prasedh

3. Sri Lanka

4. Andaman and Nicobar Islands

Question Id : 3421237441 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 3421237442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 47 Question Id : 3421237443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 48 Question Id : 3421237444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3  FTaR §i T & ot o1 39 H 8 B 9 W R e wimR 3R
Siciehl 9 VeroH] B 3T 8

1, YR
2. 7t framedl
3. A

4. RATS]

Question Number : 49 Question Id : 3421237445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 50 Question Id : 3421237446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Manipuri Bangla

Section Id : 342123101
Section Number : 2

Section type : Online
Mandatory or Optional : Optional
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123297
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 3421237447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 51 Question Id : 3421237447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 3421237448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 3421237448 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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Question Number : 53 Question Id : 3421237449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

< I ST (BT NN ST (IR % T (1R0R 2 AL (I8 2291
Q] (V-8 20T | 2

| 5 5] &3
2. (1 Blsty Amar

3. (T WL ql
NG E& RG]

Question Number : 53 Question Id : 3421237449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 54 Question Id : 3421237450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 54 Question Id : 3421237450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 55 Question Id : 3421237451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 55 Question Id : 3421237451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 56 Question Id : 3421237452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 56 Question Id : 3421237452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 57 Question Id : 3421237453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 57 Question Id : 3421237453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 58 Question Id : 3421237454 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<@l BRI A NERAG (29 NG 2™ (36l oI5 ([ eTqq (AW
(WIS W 2] (W0 A0 2EaT Wadme

L 4o &
2. IR FITAS
R CNEGIESD

4. IOTHT ACTH

Question Number : 58 Question Id : 3421237454 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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Question Number : 59 Question Id : 3421237455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ANRY AFAAN - OFYAII AT AT IS A2 Q12

1. foreie<s PN

2. (BSPT ATRYIWI
3. BleRl UbI F1P GLAIR] N6l GLHIP
4. NRUATHAT

Question Number : 59 Question Id : 3421237455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AN TN - OFYIIF AT =N ST A2 1ers

1. [orefes BN

2. (Bl AL
3. Il WEI B GLAI5] Vbl BLard
4. NIRCAIEAI

Question Number : 60 Question Id : 3421237456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



<TG fOSTA (NITHATLFEN S SN 2w Fo =1 58T | T T
APING! | YT LG T3 [ 2RI (11 AKTBIe

L (o At
2. FZ®
3. (eT0%s
4. IR

Question Number : 60 Question Id : 3421237456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T3 ST (AISTHATIEN ®L1S ST RH P LRI HETI7 | M T
FAPINAL | NITH FIAGA T2 | 2T (2141 ATBIMe

1. (e At
2. FR®
3. (60w
IREIEIE(G

Question Number : 61 Question Id : 3421237457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR (R TG FINGET THesH SRSl UL YTl S
A NN LRI YOV B3l UG OFT (RIS (T [ 2

1 AT 3L
2. (VIRNIRIYY (G131
3. (VISTAEY M

4. (MCeTY b

Question Number : 61 Question Id : 3421237457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IR (R TG FINGET NHeSH SRl UL YTl Gl
A NN LRI YOV B3l UG OFT (RIS (T [ 2

1 AT 3L
2. (VIRNIRIYY (G131
3. (VISTAEY M

4. (MCeTY b

Question Number : 62 Question Id : 3421237458 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S L e il A AT R RS 0 607 G V) O S A LA SR BB
IR U (ST WT 1541 (9T Q1 (XRUG ST P Saige (1
W@ 21T FS3T (Tdeme

RGRE]
IRGRE

3. TN

4.5

Question Number : 62 Question Id : 3421237458 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

« PTAT TN{I, 2[~SRT 41s5T oT NS oW /S [T
ISR AT (ST HT 131541 (R 1 (XRTS STCI TEP S aidTe (F1G
W@ 2T ST (TFeme

R REE
R E K

3. T RN

4.5



Question Number : 63 Question Id : 3421237459 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

NG YAZR[ (9181 AP VYIS D! WY FIE1 Wsfhs

1. IR GF ST G I A G (LA PN 291
2. ST *TGN FIE FIR GF A #TGA (LA PN R4
3. PI2 G A FG CLISA SN *G P PR 29
4. ST TGN I TN *MG (AIRAE FIR GF PR RN

Question Number : 63 Question Id : 3421237459 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

MG AAZR[ (D121 APCY VYA D! W[ Wefhs

I W GHT ST *TG FIE AN *TG (13T PR R
2. A MG T PIR GFT SN G (AT PIANT RN
3. 2 GF TN *MGH CLISAA SN =TS T FIIN 290
4. ST *TGN IR AT *TGH (UIRAF PR GF PN R4

Question Number : 64 Question Id : 3421237460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

NREAN NTATAISHINT (AT 233 JIAMG A9 L6
1. /I NAPR IFEG
2. /I oHE [W[AG

. H BIoAR Y[ANG;

[

4. 1 OITOAZ YFANG

Question Number : 64 Question Id : 3421237460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



NN NTATAILHINT (ATE AT 233 TIAMG 2T 6N
A/ VAP R RS

—a

[

W BHRA A4S

B 1 O | PR G B

(el

H OIF9A2 Y410

e

Question Number : 65 Question Id : 3421237461 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

.. Blo TG NRATSAT (ATZN 12 AN SN (FLLTEH S0 Ny A2l T
GTAIRCAT 2RI W83 AR

RUREE

2. TR LG
3, AR A2
4. (NI

Question Number : 65 Question Id : 3421237461 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

. Bl AG! NoTADEa CATZIN 1R N T (AT o Ny A2l
B VEIC SRR MR RF| G BRI

L 451 &7

2. 4TI TG
3. IR fEe
4, (NIS¥TY

Question Number : 66 Question Id : 3421237462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[ER R SRR |5 R SR LR | EEARE IR G LE
RIRGGE]
2. BIRTY et
3. Ble % A4l
4, TS & (RPN 5

Question Number : 66 Question Id : 3421237462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(MG A< LI TS 1611 AARA] NN AR TA<TeAws
MIRVGE]]
2. Bleta ter
RIRVRICE]
4. IR & (FTRHA 5

Question Number : 67 Question Id : 3421237463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(PP MNP FFIOTA L= HEA 181 TLene
1. (AToIRTTE (Fo

(TSI FrEiEgow
CATORTE (ifs
4. (dle 3 TN

o]

[

Question Number : 67 Question Id : 3421237463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(PP A AT GG G 1616 WYedfne
1. (AR (S

 (ATSIRCE ST

(TR (T

4. (QUeAEG

o]

Lad

Question Number : 68 Question Id : 3421237464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(RPN (-1 TRwo1 W IfE wrdel Wb raidar Twifers

1. (dpY
>, fab
3. (P

4. (519

Question Number : 68 Question Id : 3421237464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(FTRPUIRY BINSHI (11 SR Yol SUdel SiGi =IRr S
1. (PN
2. fe1b
3. (P
4. (GeTd

Question Number : 69 Question Id : 3421237465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(NICRICETING) 8% T (PIRPUGeT Rl GRhIge] R84 SRIART $21 (RITMIBIRT Tfes
. (4l - TN
2.4
3. 21
INGITERA

Question Number : 69 Question Id : 3421237465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(CVITRIETING 8% ¥ (FIPUGET 29 B6Lde 8 SIRWdl $3a1 (RITIBEa THife

L. (97 - I

2. 14
3. A
4 (v - F

Question Number : 70 Question Id : 3421237466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(ISR RRIW — R[] PRGN NIEA (TS (4rET (R T*1iees
RGE R NI
2. FIPPT 51ED
3. frefeisst (9f9
4. FIRDT SF

Question Number : 70 Question Id : 3421237466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(ILGHNTNWT 22T — A PRGN NEAT ([T (=T (R TS
1. I3 AIGG
2. FIBPT BIRS
3. fRefets>t (afq
4, TP S

Question Number : 71 Question Id : 3421237467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BRI RO PTOTN N TRe3 M T TR Tl AEWIAMe
BCCIIGIEE]

2. ZBAAGAN
3. Eas

4. (oeffAA

Question Number : 71 Question Id : 3421237467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LGN R R E RS RN RV EN R R DR R IREEIEE
1. AN

2. ZHAAEAN
3. TR ars

4. (efJlAA«

Question Number : 72 Question Id : 3421237468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RIS T Q2 FIIGAR TR SN (TR, SN ST ¥-Sid1
RTINS AT ATGTa B3R S I TGl {LFsme

—

1. (PIIE EA
). @G S
3. OICFOF SR
4. TP 2

Question Number : 72 Question Id : 3421237468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RIS -3 SR PG AT SRR IR (S, HE NN ST - S
TR TSN AT TG B3R STH TR IR SRR

RCAN PEIVIER|D
). (A6 W2dW

=

3. (OS24

R (ESRVIER(E

Question Number : 73 Question Id : 3421237469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(NS AN 2IARA] ATRd e
1. q07T 2+ fepiohie

T R A BIRIED

3. [CIB(A6d 998 (HIBAT
(9 993 ARG

(g

4

Question Number : 73 Question Id : 3421237469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(NG SRACATHA 2IVRAT ATR(E3
1. 0T 2 {RiGhTG

. BeIbd I THES

3. f[eIBCA6T Q€8 (MBI

(9 993 ARG

[

4

Question Number : 74 Question Id : 3421237470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(TP (PTRIQAT T SN heT 8341, THITRA M A<)W Tqehin Bal
RIMVREEI KRR

W FILIEY
). AR

3. IR
4. ATBIIA

Question Number : 74 Question Id : 3421237470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R 3T T N UL PN 57 R i 2 G | B 0 o R B RA |
RIVRECIRIE BT

1. AR
2. ARIOT
3. HIICHTH
4. BT

Question Number : 75 Question Id : 3421237471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



NGPH AN (ui~ 2rAfame

BCEICRD

[

CI R

(el

GIIEM
4. SNIIL

Question Number : 75 Question Id : 3421237471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

NGH 2B N (qui+ 2rafdgme

I. g9 YW

[

CI R

\G19MM

[S]

4, BNWILN

Question Number : 76 Question Id : 3421237472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a;[ﬂ%r i@ﬁ T R Y B NS | 2] Y B (FIGT (FTFIG BT (o
| 213 -

1. 5 (OrF]
). 1% I FIET
3. 3

4. T eITHl

Question Number : 76 Question Id : 3421237472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ﬂr i@ﬁ AT (R Y BN NS | R 7Y B2 (PG (BT BT (o
| ZRS

. 45 (oAl
). 12 % P&
3. TN

4. T eITHdl

Question Number : 77 Question Id : 3421237473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ol (1 I TTHHAN ST YT JIRTN N

1.2

@

-2

Question Number : 77 Question Id : 3421237473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ool (o1 AN METALTM AGTALINT UIIFF PRI WL

1.R

f-d

@

Question Number : 78 Question Id : 3421237474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



PRT BN FGRAINTNE LI o8 (a1 A1 48
| & *ife

2. T5EA *ffer
3. ST *ffer
4. @

Question Number : 78 Question Id : 3421237474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HIT BTN FORAIN MNP AL YT a1 51 48+ane
| & *fe

2, TERA *If&
3. BT *ffer
4. @A

Question Number : 79 Question Id : 3421237475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

19 (GO WTRT (] SR (ETHIIG OF 2T 58l (R14-1 53lfe

L. Yoad
2,500
3.0
4.509)

Question Number : 79 Question Id : 3421237475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IV (MGG WS (T SRR (THIIG A% 2T 58l (R4-1 52Ifwe

L. Yoad
2. %09
3.050498

45095

Question Number : 80 Question Id : 3421237476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

F.S. Herskovits P 2 ﬁﬁa Melville J. Herskovits <B] M3 2T 612 G2 1214 2

1. Dahomean Narrative : A Cross — Cultural Analysis
2. The Ritual View of Myth and the Mythic
3. Language in Cultural and Society

4. The Science of Fairy Tales

Question Number : 80 Question Id : 3421237476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

E.S. Herskovits I 2 ilﬂﬂ Melville J. Herskovits Bl M3 2TN2 62 S24] 1214 e

1. Dahomean Narrative : A Cross — Cultural Analysis
2. The Ritual View of Myth and the Mythic
3. Language in Cultural and Society

4. The Science of Fairy Tales

Question Number : 81 Question Id : 3421237477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



4 (BT 2 N2 A= S 214Q1 Tiefiare
1. 9. a5, =6

2. 4N, 4. (NTerEl
3. B Ul I9I® s

4. 191 ™. (qmry

Question Number : 81 Question Id : 3421237477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

< (BT 2 Nfroyagierzias S 2i<Qr fese
1. M. aN. 9. eIb

2. N, 5, [NUerET

3. BAIY PoW e
4. 9. B1. (Tmry

Question Number : 82 Question Id : 3421237478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CNCOLETETN ATAIF CFIS -1 521 SN ®123(H:
. 55A94Q, FE6IF =M1

—=

Sena, Ve 7

[

S0, e VI *°

Sons, RGN *r

]

-

Question Number : 82 Question Id : 3421237478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



CNCOCEAT 2N SN RISl 521 SINm ®I24ihe

9994, BB T

—a

Seea, WM 7

[

%A%, e WA

DSeew, REEmE =

(el

4

Question Number : 83 Question Id : 3421237479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I B2 - ST 22 UG Soba Ol AT (R FANAL (A M Repon
NEIILE

L. (TS AZG

2, FANY T ARG
3. 909 H20

4. SfTo5d A3

Question Number : 83 Question Id : 3421237479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%Bw R AT 22 FIGT Sk O AT (R S (B0 N TRyl

1. (AT ARG

2, PN A5 H2G
3. 39 AR

4, A[TOG G

Question Number : 84 Question Id : 3421237480 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

ARG GRS D R NN C RV EA D R E AR C R ESIE|
AN (T ST L5 ST (41 Q1A (A A= By

ST TS
1. 2 (73fd

) (FHF
3. Alfefs 7 S

4 Wiom AN

Question Number : 84 Question Id : 3421237480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ERG GRS R R NN C RIS FAYE R G E R C R ESIE|
GANITIN (FRIAT SICTA1 01 ST (41 2<MGial (RIF1E A1 Gy

&THF APl
1. 12 (Tl

. (TR
3. Alfets 7 S

4 ifon Ty

Question Number : 85 Question Id : 3421237481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“JLOIH (FFP A2 FZAM (PG A (ORI 17 =R
R CRRNIEE
2, Wf6w 727 e
3. SR (ATPH
4. 16 1 9130



Question Number : 85 Question Id : 3421237481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

L6 (P A FIZAM (PIGTAAI Alers (ST 17 =R
1. WIGw J5ifers
2, Wb~ 4 s
3. LA (A6
4. 15 1 AfTT0

Question Number : 86 Question Id : 3421237482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R 1R P11 e tRT 7 far ot 8% foo) syt 2 o fo fraen wizafus
. Y3 (6™
2. [l 5
3. P13 IS

4. PRB P1eR

Question Number : 86 Question Id : 3421237482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R R BT = TwreEar v foat 8% 65 SeTormr 21 6 fo PifTaeon sizdfs
L. Y™ (6™
2. [ ba
3. P13 BRAG

4, PIB iz

Question Number : 87 Question Id : 3421237483 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

2[4 T2 IHN I NG 2N HRT SIS A 230
T4 pRIMe

L. Yool

2.2000

3.2003

4.2008

Question Number : 87 Question Id : 3421237483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

/33 12 IHAN TP NIV 2N AR0) SIHTAN A 230
<[4 B2l

L. Yoab

2.2000

3.200%

4.2008

Question Number : 88 Question Id : 3421237484 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R BTV RN GIEREIR AV RUEE F I R DR RSO R R
VBT

1. (AR Y29 9
). TGS (I

i

3. frfe® (R oM

4, 31 o

Question Number : 88 Question Id : 3421237484 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

R BTV RN GIEREIR AV RUEES I R DR RIS RO R Rl
VBT

1. (AR Y29 9
). TGS (I

3. frfe® (R oM

4, 31 o

Question Number : 89 Question Id : 3421237485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG F TN JTOF N T MoeTGrow! 277 FO (AT O34 TE
Few 2RA1 TR | 2R

|, TN RN
SGEIGRIE
3, AT VTS

4 W% N FIGTGN

Question Number : 89 Question Id : 3421237485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TGN JTCF PN FT I AOTGIoP! 277 FO (G B34 T
e e R ERREARIPEIE

| SIS R
SGEIERIR
3. eI AR

4, W% 5 PTG

Question Number : 90 Question Id : 3421237486 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

ST WS (TR IREI 2R 0F (d%02) BT AR SR
L 9w G
2, WRAW el
3. 5TG5H QAT
4. (PE Gl

Question Number : 90 Question Id : 3421237486 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GHM NN (71 AAANOIN 2EE FHF (5592) 20T TEHIT S2AMS
L. AW ol

D, SR el

3. GoA Gi2Id

4, (! WG]

Question Number : 91 Question Id : 3421237487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



CSTCEIR A NIEAT SIRYA, O, STHI2 WK elieed LENTH] IR LT

A NP
AMCPleT

W
R

Choose the correct answer from the options given below:

0 n W

1.A,B,C,D
2.B,C, DA
3.C,A,D.B

4.D,C,B.A

Question Number : 91 Question Id : 3421237487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR AN AIRYW, O, 2 O cliesq LGN =M LS.
A. &
B. Y

c. %
D. AP

Choose the eorrect answer from the options given below:
1:A.B;C;D
2.B,C,D, A
3.C.5.D.8

4.D,C,B,A

Question Number : 92 Question Id : 3421237488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SRS NG SITZAT AT SN S123 SIzRs o0 N8

A, (T B Gyl

B. YCAIZG B &leTol

C. AOTE133Y b Mw

D. AREBCIN B (AN

Choose the correct answer from the options given below:

1.A.B,C.D
2.B,A,C,D
3.C,A.D,B

4.C,D,B.A

Question Number : 92 Question Id : 3421237488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SRS NRIANGN SICATZAT WA S S1251 SRR o0 N2 N8ihe

A, (TN B G|

B. ACAIZGN b wAfetel

C. WIGIIZ3Y B Aifo

D. ARRBCAIN B (VA9

Choose the correct answer from the options given below:

& B G D
2.B.A,C,D
3.C,A,D,B

4.C,D,B,A

Question Number : 93 Question Id : 3421237489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT (F2*Y (M) I 241 A12IdR] S2-SIHRE e

A. TP AT

B. WX [HARAAIZH] AHE
C. (=TI*Yg BIoar Nid

D. =1 51 FACHI

Choose the correct answer from the options given below:

1ol CL BB

b3

A CB

sl

B o -

4.D,B.A,C

Question Number : 93 Question Id : 3421237489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT (2R (M) I 241 A1RId R SI2-SIRE e

A, TP FA] A
B. W [HRAE2E TS
C. (=TI BNoa1 WiF

D. ¥ BIFAM FACHI

Choose the correct answer from the options given below:

Lol 2 BB

[

A D CEFB

[

B8 B

4. D, B.A,C

Question Number : 94 Question Id : 3421237490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(NS TSN SY[WI51 ST e ¥1e Wl ST A G120 S-SRI

A, S Y4l
B. &%

c. ey

D. oYX

Choose the correct answer from the options given below:

1.B,AD.C
2.B,D,A,C
3.C.A8B.D

4.C,B,A,D

Question Number : 94 Question Id : 3421237490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RS EEE R SRR D R G R REIE F R R R R A SAR FE

A, S Y3l
B. A7

c. ror

D. oYX

Choose the correct answer from the options given below:

1.B,A.D.C
2.B,D,A,C
3B D

4.C,B,A,D

Question Number : 95 Question Id : 3421237491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BT, (LTI 3T, NP SETSIN AGIRIST4Te e B9 N NQeZal
O G AR N T8

A, ST (JFAI
B. WY TRAEFH
C. MERGHAT

D. (IS4

Choose the correct answer from the options given below:

I.LA,C,D,B
2 B D
3.CBAD

4.C,D,B,A

Question Number : 95 Question Id : 3421237491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BIIUSIET, (TRLSTOT ORI, ¥TNCAIP GHTSTNY ATGIET4ls P56 P19 Tgs2al
T GHRT TN VL A6

A, ST (AT
B. W[ TRIAEFH
C. AR GHAT

D. (AI8A~AI

Choose the correct answer from the options given below:

1.LA,C,D,B
2.A,B,D,C
3 CBAD

4.C,D,B,A

Question Number : 96 Question Id : 3421237492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



NS TLI™Ye SN (N0 (AN [T 831 AN SI=H-SHIe
A, (Me® (BIAMGS

B. (WM2% ARNIH™
C. (M WYE
D. (WMe§ TGS

Choose the correct answer from the options given below:

1.C,A.D.B
2.4, C. 0B
3.B. LA D

4.D,C.A B

Question Number : 96 Question Id : 3421237492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(NS TS SN CNTS (AT (W2 S3A] AN SI=H-SHIe

A, (IMe® (EIRMGE
B. (M3 AREH
c. (™% YYp™m
D. (™% WGrg

Choose the correct answer from the options given below:

LA, D B
2.A,C,D,B
3.B,C,A, D

4.D,C,A, B

Question Number : 97 Question Id : 3421237493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



G (Francis Barton Gummere), (1T (George Laurance Gomme), {57 fReTTRY (Wilhelm
Karl Grimm), 5120 (Francis James Child) N (A BRI Te- TG Re

AL - Es
B OWCE - 580
C. Y€ - baY
D. St @9 - Y3y

Choose the correct answer from the options given below:
I.LA,B.C.D
2.D,A,C,B
3.B.D.AC
4.A,D,C,B

Question Number : 97 Question Id : 3421237493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

37 (Francis Barton Gummere), (T ( George Laurance Gomme), ﬁﬁf Ry (Wilhelm
Karl Grimm), 5129 (Francis James Child) N (AP HRN N2 NANGMe

ARG - b GEs
B O - Yas
C. Y0 - oY
D. @9 - Y3y

Choose the correct answer from the options given below:
.A,B,C,D
2.D,A,C,B
3.B,D,AC
4.A,D,C,B

Question Number : 98 Question Id : 3421237494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(AN [T, 1N, (G (PIVRE, I (I A1 21 A2 N2s-
T8ms

A, B3N AW Rl
B. WSO % feibrand

C. W (IR O R [T

D. 20 I (UG

Choose the correct answer from the options given below:

[.LA,C,B,D
2.B,A,D,C
3.B,D,C,A
4.D,B,A,C

Question Number : 98 Question Id : 3421237494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(AW [T, 1N, (IR (FMTGe, AT (I 1 241 g ais N I2s-
NOIRIET

A, T 2N A o™
B. WIHON % feibrand

C. T (W3 4G 7 [
D. 3G 4G [4TMH

Choose the correct answer from the options given below:

I.A,C.B,D
2.B,A,D,C
3.B,D.C,A

4.D,B,A,C

Question Number : 99 Question Id : 3421237495 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



CRIATB] 2Tl (]2 3 W2e-N18H

A. @ (MG

B. (A20F (GFH

C. BN AT

D. MIR®] (AN TN

Choose the correct answer from the options given below:

1A B, C;D

b3

B, A G D

sl

A, B, D

4.D,C,B.A

Question Number : 99 Question Id : 3421237495 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(RIFATRI 2 HZeTnT (A3 51 e =rem

A, @ (G

B. (*M26® (GfFH

C. BN AL

D. SIR®] (AN TN

Choose the correct answer from the options given below:

1.A.B,C,D

[

.B.A.C.D

[

o, B, D

4.D,C,B A

Question Number : 100 Question Id : 3421237496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



WAGH! (NS TG2AT I (FB] W4 O Nyl TS NL3-N18H3

A, I OZJ1 5T T = AN AT

B. W9[2 BIMAT 9 V9&[ (*T0&[RHA]

C. W72 SZHAN I WY Q2] MA@
D. WO B 957 I8 (Ol

Choose the correct answer from the options given below:
1.A,B,C,D
2586 B, D
LA BB

4.D,A,B,C

Question Number : 100 Question Id : 3421237496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WAGH! (N VG2 I (FB] N4 OFN Nyl ASAT NU3-N18iHe

A, I 921 95T 2 = A=A

B. YOI 5l 957 TS| (TQHAI

C. W2 @2 I T2 G2 221
D. WOI3 B 357 I8 (O

Choose the correct answer from the options given below:

oA By E D
2.A.C,B,D
38,0 B.C

4.D,A,B,C

Question Number : 101 Question Id : 3421237497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SIBT ] IHCATRBETE] ST e SR IH S B! W3- N8fHs

A. (oAY

B. (w9 A
C. ASNO2Y
D. (wH[TwHALN

Choose the correct answer from the options given below:
1.A,B,C,D
2B ADEC
2B DA

4.A,D,B,C

Question Number : 101 Question Id : 3421237497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST ] HCATRBETET STTYe] S IH F1Ge B! W3- N8fHs

A. CoRAY

B. S{whHA
C. 2oL
D. (wH[TwHAL]N

Choose the correct answer from the options given below:

1.A, B, C,D
2.B,AD.C
3. 8. DA C

4.A,D,B,C

Question Number : 102 Question Id : 3421237498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SO 5N 2391 AR P25 N-NA18H

A. OFEP

B. Sfo~dwdl®

C. OF*Ny

D. AAGUAFRTGIEAN

Choose the correct answer from the options given below:

foae 0 B By

b3

A B D, C

sl

A, B, D

4. C,A,D.B

Question Number : 102 Question Id : 3421237498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SN TENT 2FF] AR B8] N3-NA3H

A. OHEP

B. SlfwNIwdf®

C. OF*IF

D. ARG IBRTSIEAN

Choose the correct answer from the options given below:

1A, C,B,D

[

AB, D, C

[

o, B, D

400 0B

Question Number : 103 Question Id : 3421237499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o, ([T (997, T (BIrTE, 54 57 (M WO (181
AIRIGB M WY AN8 s

A. [oT9E8F Ao 9F 2w
B. Y4l arTd
AR EEGRIGRE]

D. ¢ JNF &F (AW

Choose the correct answer from the options given below:
I.B.C.A.D
2.4,B.D,C
3PC AR

4.C,D,AB

Question Number : 103 Question Id : 3421237499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o, (RN (AO55, T (BT, 54 57 (s NI (181
G IEIEEAR (R R I

A, T3S M© 8% 2wl
B. W3t arrd

c. farameae wiq=dt

D. 4 JNF 8% (N(©

Choose the correct answer from the options given below:

1.B,C,A,D
2.A,B,D,C
3.D,C,A,B

4.C,D,A,B

Question Number : 104 Question Id : 3421237500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT I 25T R A1 M Y- N=refis

A. M (AR

B. W (dept

c. [Afatse @UEm
D. R /SN

Choose the correct answer from the options given below:

1B, A, C;D

b3

ACAD B

sl

DA B

4.B,.C,D. A

Question Number : 104 Question Id : 3421237500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT AT 23T AR A1 51 WYz reis

A. N (HAqR

B. W f[dept

c. [Ffdtse @ram
D. W dFHPI

Choose the correct answer from the options given below:

1: By A C; D

[

AT AD. B

[

C.DUAB

4. B.C, DA

Question Number : 105 Question Id : 3421237501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Bl (TSN 22 FUOT b2, 5542, S940 BTAME You 71 (RIS ARfieMie

A ﬁc‘lﬁﬁi G
B. o f (A
C. (BT (T

D. T4 TSI
Choose the correct answer from the options given below:
LABCD
2.B,C,A,D
3.B,AC.D

4D,B,AC

Question Number : 105 Question Id : 3421237501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BT (TN 28 FAGT b2, 5542, SpAb BTAME You T (PO ARfIeMme

A ﬁﬂﬁﬁ 4G
B. o1 6 (AT
C. (BRI (7T

D. ST GBI
Choose the correct answer from the options given below:
I.LA,B,C,D
2.B,C,A,D
3.B,ACD

4.D,B,A,C

Question Number : 106 Question Id : 3421237502 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



0 NOuN N EA W B AR G| (Al T W AI2E Sime

AVACH G
 RGHGIKIG]
C. WM (P13 TGl

D. BIRIN(4LT

Choose the correct answer from the options given below:

I.A& B Only
2.B & C Only
3. A& COnly

4B &D Only

Question Number : 106 Question Id : 3421237502 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B0 TouN N~ A WsHS AN G (Al T WS RS Wwime

A. QU3
B. (GS(eTSe
C. M (P13 TG

D. BRI

Choose the eorrect answer from the options given below:

I.A&BOnly
2.B & C Only

3.A& COnly

4.B & D Only

Question Number : 107 Question Id : 3421237503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(TS (TN 4TI (TR (ST STg (NIRAIE (PI]1 A0Ee SiFaN A
(R CICREIRREE

A BIEl
B. 4074
C. WsEl
D. belldl

Choose the correct answer from the options given below:

I.A&Bonly
2.B & C only
3.C&Donly
4. A&Donly

Question Number : 107 Question Id : 3421237503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(0O (o YTRTE (FR: (AR AT SIe (1AM (P11 05 S0 AT
(0@ fAsTeisme

A PIEI
B. 4074
C. Al
D. belldl

Choose the eorrect answer from the options given below:

.A&Bonly
2.B & C only
3.C&Donly
4. A&Donly

Question Number : 108 Question Id

: 3421237504 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A1 (IR SN TGS AR 43P A1 W24l

PN IEED
B. (HIsNI2
C. dl

D. *1&leT

Choose the correct answer from the options given below:

1. A& B only

b3

.B & C only

sl

.C & B only

4.C&D only

Question Number : 108 Question Id : 3421237504 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I3 (ISR SN IAGS AR D L3P AJT NRlee

N IEED
B. (HISWIZ
C. ¥l

D. *[& (e

Choose the correct answer from the options given below:

1. A & B only

(]

.B & C only
3.C&B only

4.C & D only

Question Number : 109 Question Id : 3421237505 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



16 (TR, T (P16 TGPV Ao (NITER N2 N2
(T IR 5T M- N

A, TR 057
RRLEE

P Eﬂ_’ﬂa[;
D, W1 1 w1

Choose the correct answer from the options given below:

I.A&Bonly
2. A& Conly
3.B & Conly

4. A& Donly

Question Number : 109 Question Id : 3421237505 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

b CTEG, 2T (FIET TRAGEVR TN (AP TG 3aT T2l
SR B R AR I

A, TR0 AN
B. 31 s

(. EE1I3[3
D, TG +d] A

Choose the eorrect answer from the options given below:

.A&Bonly
2. A& Conly
3.B& Conly

4.A&Donly

Question Number : 110 Question Id

: 3421237506 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



NRIAGE NI [N 25T ([UaWPl F WSS

A, (CIIGF TA™T
B. (Fle =0OR
C.*G[3

D. (Fge TGS

Choose the correct answer from the options given below:

1. A& B only

b3

.A & C only

sl

.B & C only

4.B & D only

Question Number : 110 Question Id : 3421237506 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRRIGP NI [N 2] ([UARD] S S 4Se

A. (ETTGB AT
B. (I =O12
C. %62

D. (e NGB

Choose the correct answer from the options given below:

1. A & B only

(]

. A & C only

(%]

.B & C only

4. B & D only

Question Number : 111 Question Id : 3421237507 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



2 PUATT S50 OINM Y50q O felz 4841 W< FRITICM F° wIaafess

A, AW A6

B. (IT12(G fATed
C. oTN=e [TA6A

D. fo&rsmI W16y Y™

Choose the correct answer from the options given below:
1. A& Bonly
2.B&C only
3.C&D only

4.B&D only

Question Number : 111 Question Id : 3421237507 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2 PATC Y50 T S0 O fefe 3§ NiFya! fATIBM o= watfes:

A. AT RTG53

B. (TIR(G [ATed
C. TN 63
D. fo&rsmI W15y Y™

Choose the correct answer from the options given below:

1.A&Bonly
2.B&C only
3.C&D only

4.B&D only

Question Number : 112 Question Id : 3421237508 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[NSTN Y51 (IR0 AT A (FIGGIAMNB 4] ¢oo M UGS WY |
AN ST (BTG W A os

A HGI
B. &

C. (TIROrY TR
D. (Y &I

Choose the correct answer from the options given below:
. A& Conly
2. A& Donly
3.B&Conly

4.B & D only

Question Number : 112 Question Id : 3421237508 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[T Lo (R AT AT RIS 41 ¢oo M Mraifoe Wi |
AP A18AT (BTG O T og

A AGI

B. &

C. (TIROrY W2V
D. (F*N $&I2MME

Choose the correct answer from the options given below:

I.A& Conly
2. A& Donly
3.B& Conly

4.B & D only

Question Number : 113 Question Id : 3421237509 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SIHT (VO™ HH AR SINR S =2 AS~IF Az sms

A, 2T F3.4
B. AT *T F14
C. N *IT F2.4
D. NS *IH] FI4

Choose the correct answer from the options given below:

1. A& D only

I3

. A & C only

LS

.B & C only

4.B & D only

Question Number : 113 Question Id : 3421237509 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST CNCOTE™ BRI SN A=A LS~TF qiafreis

A, 2T #IH F3.4
B. 1 *(] ¥4
C. NN *I] F2.4
D. [N *H T[4

Choose the correct answer from the options given below:

1. A & D only

I3

. A & C only

T

.B & C only

4.B & D only

Question Number : 114 Question Id : 3421237510 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fSTO*T (FMOHIRG ([TEAGHR N . 54T ([Areasiefas

A. TI1d ([0
B. (AETOS 8F (FOFe 1o

C. (ATEAGH SF SN(FO P A9
D. (RGN 8F 1 (A

Choose the correct answer from the options given below:

1. A& B only

b3

.A & C only

sl

.B & C only

4. C & D only

Question Number : 114 Question Id : 3421237510 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fS0#1 (FMGARG (TG 3 U2 54l (QeTsisiie

A. TI1d ([0
B. (AT 9F (FHPe o]

C. (ALEAGH SF ST P A0
D. (AETG &F 7 (N

Choose the correct answer from the options given below:

1. A & B only

(]

. A & C only

(%]

.B & C only

4. C & D only

Question Number : 115 Question Id : 3421237511 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



GBI, {22 (Stith Thompson) NI 24T GIEEEIRNEE

A. W CRIPLG
B. W GIZ¥Y 8F W (FIHRL6
C. AT CFIBEAE

D. & M2 | WGP CFIPCATD

Choose the correct answer from the options given below:

1. A& C only

b3

. A & B only
3.C & Donly

4.B & C only

Question Number : 115 Question Id : 3421237511 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LI, {82 (Stith Thompson) NI 24T GIREEIRHEE

A. W (FIHRGA
B. 1 G129 8%  (FIHRLG
C. AN (FIBEAR

D. 4 93ZR § SN[ (FIBEAR

Choose the correct answer from the options given below:

1. A& C only

(]

. A & B only
3.C & D only

4. B & C only

Question Number : 116 Question Id : 3421237512 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



CATBTI 23] TR oAl (VBIRA G STa: (1 (ISPl VRl (adme

A, JCEIG
B, f& L0l

C. et

D. [

Choose the correct answer from the options given below:

I.A&Bonly
2.B& Conly
3.C&Aonly

4,C&Donly

Question Number : 116 Question Id : 3421237512 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CAUBT 321 ARSI VoA (NIRRT SIS (1 (B H] WA (g2

A, AT,
B, f& (0!

c. et

D. M3

Choose the correct answer from the options given below:

I.A&Bonly
2.B& Conly
3.C&Aonly

4. C&Donly

Question Number : 117 Question Id : 3421237513 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



G 3 AT 2371 AL AR4P W Ie

A. W JeTnd (BH0N

B. M SI2MAT 8F 4 YA OIE®
c. m (hfer (2SI

D. (A6 HANS 4 [N 8F Febd

Choose the correct answer from the options given below:

1. A& B only

b3

.B & C only
3.C & Donly

4.B & D only

Question Number : 117 Question Id : 3421237513 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

G 957 AfTIONT 2931 I 2GR SIHe

A. W eTmd (B6TNA
B. M SR 8F 4 YA CIEfe
c. M cFfeE [FEeT

D. (G HIAMG 4 M 8%F Fe164

Choose the correct answer from the options given below:

1. A & B only

(]

.B & C only
3.C & D only

4. B & D only

Question Number : 118 Question Id : 3421237514 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FOPVR AGEH! P07 VP& ST T (A1 NG TN (R0
IR (A1 s A OIR0 ] T (116 W7 S A5 AR NZel NA7Z3 M2l (sl
R RE B RPN € G R R RTIEGHEE

N (¥ GG GRIGRE
B. (NISTAY AT
C. %! (AR WIIKAT (TarbiweaN Wil

D. (¥R (AR SIRET A4

Choose the correct answer from the options given below:
[.A& Conly
2.A&Donly
3.B& Conly

4.B&D only

Question Number : 118 Question Id : 3421237514 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AGPUR AAGEH! P10 WP T2 WM (ATewfs Tl TEoawl (2
ST (AT s T O] T (1416 O] S A3 AR WZel NA7Z M1 (2T
R G BIRER N R G G B R RRIEICREE

A, SR FANHAI
B. (SIS AIATaw

C. (V4 (AT IET (I3 T
D. (T3 (NIt SIRET 140

Choose the correct answer from the options given below:

[.A& Conly
2.A&Donly
3.B& Conly

4.B&Donly

Question Number : 119 Question Id : 3421237515 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

T4 A ST (RIS AT WY (STIS P SIS S 3% e W] (TGl
G o ST SN SR TP TG BAT (RS W2 el (131 (P11
VG ESE ﬁg

A, SR
B. ANGIIE

&

‘\
D. Y

Choose the correct answer from the options given below:

[.A&Bonly
2.B&Aonly
3.C&Donly

4.B& Conly

Question Number : 119 Question Id : 3421237515 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WA AN ST (RIS WY (IS ATRRT SIToraT $20d1 AN ST (TGl
Gl ST ST B¢ TP TN BT (PISTHIEN W2 @l (131 (PSR

UEESRITE

A RTfe
B. GG

&

K
D. Y

Choose the correct answer from the options given below:

. A&Bonly
2.B&Aonly
3.C&Donly

4.B& Conly



Question Number : 120 Question Id : 3421237516 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

NG (T (111 ST CRITN*13iie

A, JRCEARCTA, (OI=A, JAHTIO0, (B

B. Sefw 3N, (OI2, W= IAATA60, (B
C. AREAR[EE, (NG

D. ARARTIA, TSNS

Choose the correct answer from the options given below:

1. A& B only

b3

.B & C only
3.C & Donly

4.B & D only

Question Number : 120 Question Id : 3421237516 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

N R GGIGIIGE R LGt TR REE

A. RCEARTIA, (OIRA, JHMHI00, BIA

B. S[eIw S, (O35, SHIAATAG0, (B
C. R[N, (UG

D. ARARTA, (INONS®

Choose the correct answer from the options given below:

1. A & B only

(]

.B & C only
3.C & D only

4. B & D only

Question Number : 121 Question Id : 3421237517 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



N[ TN TR SCAZINN (A1 ST (BAANCADG CFINAMe

A, ARARTIE, (SIRAE, IFHNACGE. (F

B. AR(ARUIE, (OIS, SN HNAGE, (T
C. (ICETLOH, (SIRTET™, SN AAHFIG0, (3
D. ARARCIA, (NG

Choose the correct answer from the options given below:
1. A& B only
2.B & C only
3.C & Donly

4. B & D only

Question Number : 121 Question Id : 3421237517 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

NIVHQT (@A ACRON SICAIRIT (AT BFT (BN CPIAMe

A. ARCEARTIE, (O, IAHTAG0, (B

B. 2RI, (SR, SHIAHNACGE, (B
C. (LG, (SIS, SN ASHFIG0, (3
D. AR, (NG

Choose the correct answer from the options given below:

1. A& Bonly
2. B & C only
3.C & Donly

4. B & D only

Question Number : 122 Question Id : 3421237518 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



STR@T IS, IrTOnT (TS Sra32 3R] JHTe (R (PLAfeTS S 831
R MIIERE AWET N R G N R CRGIER R

A, e ardoraref
B. {0 4 dfefn
C. (T4 (151 (<116 g3

D. (4efn

Choose the correct answer from the options given below:
ILA&Conly
2.A&Donly
3.B& Conly

4.B&Donly

Question Number : 122 Question Id : 3421237518 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SRGTT FITE, AGIORT (TS ST T T (A (PUIeT ST 82T
RN ERE BT N R B N ER R GIER R

A fafer by
B. 10 4 dffTTn
C. (14 (157 (116 WG

D. (XA

Choose the correct answer from the options given below:
I.LA& Conly
2.A&Donly
3.B& Conly

4.B&Donly

Question Number : 123 Question Id : 3421237519 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Gy, 1. (o1 AT 2 AMGMAN NG IR ARIR e

A *CHTY NO12 At
B. ST

C. TR PNAA

D. AIZFMA SN YN

Choose the correct answer from the options given below:

1. A & B only

I3

.A & D only

LS

.B & C only

4.B & D only

Question Number : 123 Question Id : 3421237519 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foy. 51, CorsImm 23 AGmaN N1 ZCHIBIAT Ar2fahmieiis

A [T O3 &gt
B. ST

C. SR T NAA

D. ARFMI SN N

Choose the correct answer from the options given below:

1.A & B only

I3

.A & D only

T

.B & C only

4.B & D only

Question Number : 124 Question Id : 3421237520 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(7 FRIN A FD BT (N I (oY A2 A2 (S T4 LA |
T ST 121G WA 2SN T

A. ST (A3

B. (NISTAEY SR
C. ST AOCNA (Nl
D. 7% Ao

Choose the correct answer from the options given below:

l.A&Donly
2.D & Aonly
3.B & Conly
4.C & Bonly

Question Number : 124 Question Id : 3421237520 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(T FIAN AL FH PN (FV T (S A2 2A (B T9 2N |
O] 83T AR O 2N T

A. SN (21241

B. (NISTATAY $EHNRA
C. ST AGLN (N4l
D. %% Ao

Choose the correct answer from the options given below:

I.A&D only
2.D & Aonly
3.B&Conly
4.C & Bonly

Question Number : 125 Question Id : 3421237521 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



2110 BN FIEN ARIGB ] PANI (12T N2HAT (AN 2RTH 2

A. 29 TPT12152 A Z0alATET
B. IITB

C. R3S (W JroA

D. WG &5 WG

Choose the correct answer from the options given below:
1.A& Conly
2. A& D only
3.B& Conly

4.B & D only

Question Number : 125 Question Id : 3421237521 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2[NS PN BIH AR BN (121 N2HAT (AN 2RTF! 2

A. 127 OTSI1EGe I 2 BAIAGH
B. S

C. (EG (A= G

D. WG &5 |G

Choose the correct answer from the options given below:

1.A& Conly
2. A& D only
3.B& Conly

4.B & D only

Question Number : 126 Question Id : 3421237522 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

SICLIAT =TS [ (e B
@EEERT-T-T L |2e= Rarg
T WY CU1E (BT II. |9 (T4
Ble§ (AT 2RI | 1L | PR
o WAE BE IV. | cres 50my

ololw|s

Choose the correct answer from the options given below:

1.A-II, B-1IV, C- 1, D- I

[

CA-LB-IV. C-11, D-III

[

.A-II,B-1, C-1II, D- IV

4. A-1,B-1L C-1V, D- I

Question Number : 126 Question Id : 3421237522 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII

SICEIET ATRS [ [ =ER T R
@EEET-T-T L |=ow Rarg
[G R E IR ERTE | I | Y (ST
Ble® CYTRCNTY w2 | I | Tl
[ AR BIRAT IV. | CTes Si0ey

olo|w|s

Choose the correct answer from the options given below:

1. A-II, B-1IV, C-1, D- I

(i

A-LB-IV,C-11, D- 1T

el

CA-IL B-1, C-1III, D- IV

4. A-LB-1IL C-TV, D- I



Question Number : 127 Question Id : 3421237523 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-TT

LIST1I LISTII
ST T *TST

Tl s I |temmsta
P el IL | *IsTa
[Gis Rzl 1L | SIS
cafEws IV, |fisTe g™

olo|w|s

Choose the correct answer from the options given below:

1.A-1, B-1V, C- I, D- III

[

CA-IV,B-1L C-1I, D-III

(5]

A-IV, B- 1L C-1, D- 11T

+

CA-LB-1IL C-11, D- IV

Question Number : 127 Question Id : 3421237523 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
ST T *TTST

Tl G I |CePnstEy
PR IL | %It
[Gis el 1. | ®I0srs
RIIELR] IV, | st g

ololw|»

Choose the correct answer from the options given below:

I.A-L B-1V. C-1II. D- III

(]

CA-IV.B-L C-1I1, D- III

[

LA-TV, B-11I, C- 1, D- III

e

.A-L B-1IL C-11, D- IV

Question Number : 128 Question Id : 3421237524 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LIST II
FIEIR) wzar

A |FEIIMEG | L |WE S Ao

B. |98 I |=os @

c. [T3et 1. | CISTTEY ST

D. |ISMTR AT | IV, | 4N A

Choose the correct answer from the options given below:

1. A-1, B-1II, C- 11, D- IV

[

CA-LB-1V, C-11. D-III

(5]

LA-TIL B-1V, C- 1, D- 1T

+

CA-IILLB-L, C-IV,D- 11

Question Number : 128 Question Id : 3421237524 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-TT

LISTI LIST II
qrarTsT wEar

A |FEIIMEG | L |WE S Ao

B. |98 I |=os @

c. [T3et 1. | CISTTEY ST

D. | (ISR AT | IV | YNUEA 2B

Choose the correct answer from the options given below:

1. A-1, B-1II, C- 11, D- IV

[

CA-LB-1V, C-11. D-III

(5]

LA-TIL B-1V, C- 1, D- 1T

+

CA-IILLB-L, C-IV,D- 11

Question Number : 129 Question Id : 3421237525 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LIST I LISTII
A |G R WA [ L[ 5TE
B. |TE@a e 1L |FHAN
C. |TEFTaa Ted 11 | Groat
D. | V. | ==

Choose the correct answer from the options given below:

1.LA-IV,B-L C-1II, D-II

(]

CA-IV,B-1I,C- 1, D-III

[

CA-IV,B-1IIL C-11, D-1

4. A-IV,B-1, C-1I, D- III



Question Number : 129 Question Id : 3421237525 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
A | MG SR WA | L | (5T
B. |TE@a e 1L |FHAN
C. | TEIFAd N 1L |15t
D |:f@r IV | AT

Choose the correct answer from the options given below:

1.LA-IV,B-L C-1II, D-II

(]

CA-IV,B-1I,C- 1, D-III

[

CA-IV,B-1IIL C-11, D-1

4. A-IV,B-1, C-1I, D- III

Question Number : 130 Question Id : 3421237526 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
afas CHTSTN 551
RIC RN I |y»84
ST UNG I |y»eq

(TG A™ III. | %&%48
AT TEHE | IV, [Yene

olo|w|s

Choose the correct answer from the options given below:

1. A-1, B-1II, C- 11, D- IV

[

CA-IL B-IIIL C- 1V, D- 1

(5]

LA-TIL B-1V, C- 1, D- 1T

4 A-IV.B-L C-1II. D-III



Question Number : 130 Question Id : 3421237526 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-TT

LISTI LISTII
efas CHTSTN 551
RIERRY] I |y»89
ST UNG I |y»eq

(TG A™ III. | %&%48
AT TEHE | IV, [Yene

olo|w|s

Choose the correct answer from the options given below:

1. A-1, B-1II, C- 11, D- IV

]

CA-IL B-IIIL C- 1V, D- 1

(5]

CA-IIL B-IV, C-1. D-1I

4 A-IV.B-L C-1II. D-III

Question Number : 131 Question Id : 3421237527 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LIST1I LISTII
(M (A9

HUN (F=18| L | Seea O YiqaEs J
6 BENRA | L | FTATES A &N ArG=i
GEIEGR 1L | SPTArE5 Yo Woss A
CarE e IV, | FI&STN ZTEET 48

ololw|»

Choose the correct answer from the options given below:

1.A-L B-11, C- 11, D- 1V

(]

CA-IILB-IV, C-1,D-1I

[

CA-IILLB-1, C-1IV, D- 11

4. A-IV,B-1II, C-11, D- 1

Question Number : 131 Question Id : 3421237527 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
(AN (9

SENN =S| L | Shea o1 ITo@5m waa
206 AR | L | LTI A WNH G
GEIRGR 1L | PTUTEs Yo Wras]s A
(or3] Wol IV. [ IS5 ZIEET1 48

olo|w|s

Choose the correct answer from the options given below:

1.A-L B-1L C-1II, D- IV

[

CA-TLB-IV,C-1.D-1I

(5]

LA-TIL B-1, C- 1TV, D- 1T

4 A-IV.B-1II, C-II, D- I

Question Number : 132 Question Id : 3421237528 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-TT

Choose the correct answer from the options given below:

]

[

(5]

+

Question Number : 132 Question Id : 3421237528 Question Type : MCQ Option Shuffling : No

LIST1 LIST II
STAET X wfEar A

A |EEAE I |3g

B. [z I |20

c. |=rn 1L |EA1sT2

D. |29 V. |29

CA-IL B-1IIL C- 1V, D-1

CA-IL B-1IV, C-1II, D- 1

AT B LDV

CA-TIL B-L C-11, D- IV

Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

Choose the correct answer from the options given below:

]

(]

[

e

LISTI LIST II
ST X wfEar ans

A |[EESE I |3

B. |39 I |20

c. | L |Z(A1eTE

D. %% IV. |29

CA-IL B-IIL C- 1V, D- 1

CA-IL B- IV, C-1I1, D-1

AL B-ILC-LD- 1V

A-IIL B-L C-11, D- IV




Question Number : 133 Question Id : 3421237529 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII

GIEEES wRAT
W IEAINE 8F (FIREE | [ | AAsioad (=9E (&9
W 125 8F (PIBLAR 1L | (3R (G
W (BG4S OF (FHEd | 1L | GERgas 29
G (GO B (IS | IV, | O (FasT (5

ololw|»

Choose the correct answer from the options given below:

1.A-L B-11, C- 11, D- 1V

(]

CA-IL B-IILL, C- 1, D- IV

[

A-TIL B-1,C-1TV, D- 11T

4. A-IIILLB-II,C- 1, D- IV

Question Number : 133 Question Id : 3421237529 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII

BIRER] w3
W WIS 8F (PIFETE | 1 | SErorsd (2508 (@
W HIEH & (PP 1. | &fE (CEfen
W (ZGTF 8F (FHEd | IL | SEREe 29
PLAD (GO 24 (PR | IV, [ (IR (5

olo|w|s

Choose the correct answer from the options given below:

1.A-L B-1L C-1II, D- IV

[

CA-IL B-IIIL C-1, D- IV

(5]

A-TI, B-L C-1IV, D- I

+

CA-TIIIL B-I1. C- 1, D- IV



Question Number : 134 Question Id : 3421237530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-TT

LISTI LISTII
RUET | 99T IO

fOTEa @E0d| L |83 -Sths
BT GG | 1[5y - dbax
QT (FEG | L | YR - k80
ErEA Ty | IV | SbRy - Sva

olo|w|s

Choose the correct answer from the options given below:

1.A-L B-1IL C-TV, D- III

[

CA-IL B-1IV, C-1II, D- 1

(5]

LA-IL B-IIIL, C- 1V, D- 1

4. A-TLB-II,C-I,D-IV

Question Number : 134 Question Id : 3421237530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
RUET| [ EE IR

[AOTIET @920g| 1L |83 3bs8
BICEST GG | 1L [ Sbdy - dbas
QT (A6 | 1L |yeRd - Sk8o
EEw TETd | IV | 55R) — Sbug

ololw|»

Choose the correct answer from the options given below:

1.A-1, B-1II, C- IV, D- III

(]

CA-IL B- IV, C-1I1, D-1

[

ACTE BTG IV D=1

4. A-IIILLB-II,C- 1, D- IV

Question Number : 135 Question Id : 3421237531 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LIST II
i EAIRRCIE|

A |EN 1 |

B. |94 I | e

C. |wmge I | G&IZ

D. |*1® v, |

Choose the correct answer from the options given below:

1.A-IL B- 1V, C-III, D- I

[

CA-TLB-IILC-1, D- IV

(5]

LA-ILB-NIL C-1, D- IV

+

CA-TIL B-L C-11, D- IV

Question Number : 135 Question Id : 3421237531 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-TT

LIST I LIST II
s AR ECIE
A |EN 1 |
B. |94 I | e
C. |wmge I | G&IZ
D. [*18 v, |fRtdw

Choose the correct answer from the options given below:

1.A-IL B- 1V, C-III, D- I

[

CA-TLB-IILC-1, D- IV

(5]

LA-ILB-NIL C-1, D- IV

+

CA-TIL B-L C-11, D- IV

Question Number : 136 Question Id : 3421237532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
SIGTS 5N 303 effaerar
A |GEmEY L |*EesiEe: Sy

B. |fEamry 1L | IS == Fary

SHCATCAT *EATCE H SR 50!
C. |ora=z I |

D. |56 IV, | SPTs Iog)I<es I

Choose the correct answer from the options given below:

1. A-II, B-III, C- IV, D- 1

[

.A-L B-1II, C- 11, D- IV

(5]

CA-LB-IV. C-1I. D-III

4. A-1II, B-1IV, C- 1L, D- III



Question Number : 136 Question Id : 3421237532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-TT

LISTI LIST II
WITGTE o1 33 sffaerar
A TS 1 |*EeSfEe: Sy

B. |famm II | U@ *=7: TErN

SRUAIC *[RATE TSNSl
C. |=r=EE III. Oﬁﬁaﬂﬁ

D. | =6 V. | 91T SAgIes Py

Choose the correct answer from the options given below:

1.A-1II, B-IIT, C- IV, D- 1

-2

A-LB-1II, C-11, D- IV

s

CA-LB-1IV, C-11, D-III

4. A-1II, B-1IV, C- L, D-III

Question Number : 137 Question Id : 3421237533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
ARES corefdar 5%t
A |THT® =Tgw L [y&ad
B. | Wiost s (M| 1L |35au
C. |txtotee I [YsWue
D. |5 Fas V. [y»aq

Choose the correct answer from the options given below:

1.A-IL B- 1L C-1IL, D- IV

(]

CA-IL B-IILL, C- 1, D- IV

[

A-TIL B- L C- 11, D- IV

e

A-LB-1I C- 1V, D- III

Question Number : 137 Question Id : 3421237533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
axfas corefdar 5%t

A |TTO g L [Y%ad

B. |7 I=ea (M| IL [v5ay

C. |ttt I [Yabo

D. |5 9as IV. [3%a4

Choose the correct answer from the options given below:

1.A-II. B- 1. C-III, D- IV

[

CA-IL B-IIIL C-1, D- IV

(5]

A-TIL B- L, C- 11, D- IV

+

A-L B-1I, C- 1V, D- III

Question Number : 138 Question Id : 3421237534 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-TT

LISTI LIST II
Arafas CHIEIN 54
IR A GIR) IRy T

G W 125 =16 11 |Ye8Y
A CPFAEE {9 | L | 3532
[E g widstay | IV [ve2a

olo|w|s

Choose the correct answer from the options given below:

1. A-IV, B- I, C- 11, D- III

[

A-ILLB-1, C-TIL D- IV

(5]

A-LB-1IL C- 11, D- IV

+

CA-TIL B-IV, C-1, D-1I

Question Number : 138 Question Id : 3421237534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
Arxfas CHIEIN o8
™ @8 @19 L [ye2s

G M #7156 2GH L |3%8Y
A (PRACE § O | 1L 3533
% @@ ™ | IV, |ve24

ololw|s

Choose the correct answer from the options given below:

1.A-IV,B-L C-1I, D- III

(]

CA-II B- 1, C-II1, D- IV

[

A-LB-1IIL, C-11, D- IV

e

CA-TIL B-IV. C-1, D-1I



Question Number : 139 Question Id : 3421237535 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
Aefas CEfefat 5ot
W WIS (' L [ynse

@0 (FERA TR 1L |Yhey
W &:fert fomg L. |yaey
R 935G IV [yeee

ololw|»

Choose the correct answer from the options given below:

1LA-IL B-1IV, C- L, D- III

(]

. A-TILB-L,C-II, D- IV

3. A-1II, B-LL,C-1IV,D- 11

e

. A-1IL, B-11, C-1IV, D- 1

Question Number : 139 Question Id : 3421237535 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LIST II
GIEIEE S CEle it 551
W W (It L |ya8e

@0: (FAT TR 1L [Yeob
7 5:ferT fGog I |Seéy
R SRS IV |Yeee

olo|w|s

Choose the correct answer from the options given below:

1.A-IL B-1IV, C- I, D- III

[

. A-IILLB-1, C- 11, D- IV

(5]

A-II, B-1, C-1V, D-IIl

4. A-III, B-1II, C- IV, D- 1



Question Number : 140 Question Id : 3421237536 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-TT

LISTI LISTII

TRES

LUET: |
PARTEI L |=f
TADPILPY 1L |oarets

Pl
1a<e

Ced AIbEeN | I

R V.

olo|w|s

Choose the correct answer from the options given below:

1.A-L B-1L C-1II, D- IV

]

CA-TV, B-1TII C- 11, D- 1

(5]

CA-TIL B-IV, C- 11, D-1

4. A-1I, B-1, C- IV, D- III

Question Number : 140 Question Id : 3421237536 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LIST II
TARIAS e

A. | TUETES L |=f

B. |TwSbeY | I |Sagfe

C. | GegausEen| m |wiieme

D. |gwrafd V. |5

Choose the correct answer from the options given below:

1.A-1I, B-1II, C-TIL D- IV
2.A-IV,B-IIIL C- 11, D- I
3.A-IIL B-IV. C-1II, D- 1

4. A-1I, B-1, C- 1V, D- 11

Sub-Section Number : 2
Sub-Section Id : 342123298
Question Shuffling Allowed : No

Question Id : 3421237537 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

WA & BRIBI (3G T T2 A (P14 TP TS JG1S (MG
JOIR) Sl SR | S (RPN TN 06 TR (@R S
(P (SIS A WY | T S (TGt NN (Tt «(NRoJLe] J0R (Rl
e G Hvow-09 O (NI | WOMT & WM 34 (T | ST IGTH S
(TR TN (BTN ST A B 3ol STge 41 (/T 71 ¢.43, 900 HEY
| WOHT (LN WA WA OO (ST A5 QLR N2 S ST
G0 WA (IR | TSN 4RI (e 13300 A9 14 HIemiog
QTG ST R RS (ST ZAT GGHTE T SRR T Aoy 2l
YENIHI | (FREN (TN TR LTGAT RN (1390 T (el FNIEHd
(FISTIFGA Y920 AT TN0O AT (R ST | Y TN G A2
2T AT (e B ZRA T | TN O (Tl e G
QAIRAAT (PLE LIS NG N BN (F0He (@4 | i T 2
(LT N (B 2T 461 |




Sub questions

Question Number : 141 Question Id : 3421237538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YT IGURN =M (PIF] WAeihs
1. NG G
A (R

o]

Lad

LA PALde] QYld

AT (B

£

Question Number : 142 Question Id : 3421237539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CRGR! <ot GfSe =TT SR N WY 27a7 (I
1. 9 TCrr=GR (Ao
2. R[S (HLYA
3. M IO

4. N[5« 9G4

Question Number : 143 Question Id : 3421237540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘I Grmiog (@R 2ITF90 Ys~Ndgne

L. STCAISHANT YRIZINI™ (P TS0

RS (YA ZTA GG IH TPy

[

8]

NI S AW A3
4. O[ATF WA

Question Number : 144 Question Id : 3421237541 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
AT (R (PIIN TqN M
L. YA (B BRI AR
2. (PLETHI YA B8 AR

3. oA OrFA] BT (B 3339
4. YA N WA (HLe BN

Question Number : 145 Question Id : 3421237542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TNT® AT (R BIG WA TNz
L. AT O FH1 (BULTA] AL FHI AN VLA

2. A A W2 A THF A NEATS
3, (IS RPN NG TNl (AR5 MRS
4. (RN (IS TFIFA NIBCATS

Question Id : 3421237537 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



OAININT®I] BRIBT (24 TP W2g 40 (I TR HHd 679 (ST
JGR) Siae] G2 | MY (RIS TR ©6R FHAM (AR Sl
(R STV ™1 I | TR O (N[N NE (EAT (oLt 0T (R
HIA IGR) H50b-04 O (MY | I &l THM Y4 (T | SN TG0 W
(TP SIUBIAT (ST ST 2] 3 Pl ST 31 (33T A7 ¢,4%,900 BO
| TSI (BRI T WK OS] (TSI A5 QLR N e SIfe
U N B | SN LRIZTTR, (R TN 171G 17 DR ag
(@G S R RS (I ZA GG NN SR T oy 2
YEFFH | (PILN (TN FAMHN LG G (1M NG (Tl JAIHAT
(FIGTIFGA Y920 AT (N0 AT (R ST | HY TR IG A2
o1 AT (e S ZRA W | VAN A (T S G
QAIRAE™ (PUYE LA NG N BIFAA (THe (&Y | e T =
(PUFNTY 2N (LT 2] GG |

Sub questions

Question Number : 141 Question Id : 3421237538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TSI AU =09 (P94l Wz
1. G G

2. A (R

3. (NP 90T
4. AT (B

Question Number : 142 Question Id : 3421237539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RGrep! Mt Aoy TN YEH TN = ZA[ (FNaFMe
1. I Bremor @s

B8 (LA

I3

LS

4. /5[ 9G4



Question Number : 143 Question Id : 3421237540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

- OrFHGE (@0 AN s 7T Mme

L. RIS YRIETNT™ (P TS

R[S (P YA 4GNIH TFA

[

3. NI O WA (3
4. GIGUATS NiHN

Question Number : 144 Question Id : 3421237541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT (BL (PILI5N TINWe
L. AT (R BRI IMIRN
2. (RILW] A BOIAT IMIVN

3. oA BrFA] BIET (B 33
4. AT §fNE AN (B BILI5N

Question Number : 145 Question Id : 3421237542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TNT® AT T (P PO AMION NFAMe
1. AT SIFA THI (BULAR] YAPL FHI AN NRCATS]

2. AN YA N2 P FHF AN NEATS
3. (AISFN TR TN UG (=<1 (L1 R
4. (RN (IS TFIFA NIBCATSH

Sub-Section Number : 3
Sub-Section Id : 342123299
Question Shuffling Allowed : No



Question Id : 3421237543 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

NN FeTbq Oroge 2020 (Faul (R S 008 (A1, [P Awigal
(52 P72 2771 7 (0, (SIH LA (LG 2T #IT) a1 3 - ARG C.J,
LYALL W RS QIARAP (AT 2 A | 20 W70
APTEG CoMIeTOI AT 2 | 0¥ JRIWIEGI SO (AR Gl 28
165 FETGHI ST S20ET 3 Yook A 7 (00w (FIGH | 2 S David Nutt,
57,59 Long Acre, London = (W | FEALH TOW W@@W (ATPNY 93 |
AN T2 R {3t QLTI o] RIPFD 2O B Yae 71 AR |
TR T 1 O3 (X3 AT, | VT TR (SR TGN
(AT ] SZ4GA] =IH] ARIGP0T Gl (28] ACA (¢T3 W Wy
829 | SIYg NI 0L (&F1 WA TGN 0 SRETRMEAT S SRl
TSN O (AP SRR G Nelqa FISTHIN 7 (oG 2Rl
RG] BT ST ST RIS T (T |

Sub questions

Question Number : 146 Question Id : 3421237544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

% (oG 2341 168 PTe TR wr#1e a1 gk

. CITI Bl T

[

(RAIMPT (PRI /7N

3. (AT (RIS TR

4. (AT 16 I

Question Number : 147 Question Id : 3421237545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e A B M R T N [ | b DA E R N E PN ER R AU R

1. AT (=<0
R REGIGICRER
APATEA (AN

4. (RIS AN (N5

I3

LS

Question Number : 148 Question Id : 3421237546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LA @23 QHTell I LI (T ST A<
1. 30F @B he SR

b
[
§(’
Ly
Yy
D
=
o
M
2
&
[
.
G
(=2

3 BF 9T FIGe ST

4. -.qsi!r-_ﬂ“ '\556%” GRS

Question Number : 149 Question Id : 3421237547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TUAN 7 CNCOSr 41 YIanal SICATERms

. CETICEe] SACTSIRR24T 2ANG TSl

[—

== e

 oH STFARIILAT SRR 2P A

[

3. TGO A SRR (NICAIaRF THT et

4. CICST*e I (oA oaga]

Question Number : 150 Question Id : 3421237548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



% (N(@G 2l RGBT (P16 TONAI TS
| NYAZN AR (ATOPe AT6S 9214 |

2. (PAFOMI ST 2[4 |

3. 3 G BN $G7 83 |
4. 6% NG oy (@7 |

Question Id : 3421237543 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

NN FeTbq STNoe 202 (Al (T SR W08 (N1, [P el
{2 72 2Tl 7 (TG (P LA (LG 2 #AT) 1<l E - ARG .,
LYALL W SRS AIARARE (AT 2T A | 200 J9@0
AT (MO TGS 82T | 364 RTED oM (4T G 28
165w FETGHI ST S2CETT 3¢ Yook A 7 (00w (FIGH | A2 S David Nutt,
57,59 Long Acre, London o (I | FIEALH 20 W@@Tﬂ (ATFNY 93 |
) T e s{f3fite. ETLTT, Fafio] RIPFD 2O B Sae 7 AR |
RSN o 1 O (X3 {06 | VT T (SSGT CTeAfGon
(AT TN SZ4G] RIH] ARIGB0T ARl (28] ACA (G W Wy
8219 | STH =1 W0 (AIF1 5T TG %1 SRPTRMIe Al el SR
TSN O (@A ZNCPNIMN AG NqA FISTIN 7 (oG 2Rl
SR B ST ST IR o3l S (T |

Sub questions

Question Number : 146 Question Id : 3421237544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



% (oG 2341 168 PTe TR wr#1e a1 gk

. CITI Bl T

[

(AP (PIEAN 7Y

(AT (P[0 T

(el

. (AT 16 20T

4

Question Number : 147 Question Id : 3421237545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7 (Y@ 2ATAIAFC (NI 2RI NFAM (o185l

L. ARSI (AT
2. YRIRAEA (N3N
GIENGICICDER

4. (NNIQTA (A=A

Question Number : 148 Question Id : 3421237546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AL QLT Ul YA LI (T FHT A

1. 95T ariCEhT SfRFs

=

AED e e aTTE

3

3 OF T PG E T

4. __Ejii:f,_ﬂ" '\55% AL

Question Number : 149 Question Id : 3421237547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TUAS T CACOCT A1 412w SICHEm e

. CETICR=] SR INA#240 TG TSl

[—

2. 3547 SRR SRIRT SRRSO St

3. T8N DATIAIRFCH (HITIalF T qhel

4. TRCS o8l TET Coedl oaaE

Question Number : 150 Question Id : 3421237548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

% (Y(OG 24l RGBT (P16 NONA] IR
NYAZN AR (AIOP AToS 8204 |
(IO 8oy 93 |

R SN Bl SG7 83 |
O™ aINTE G sifesTe (afF |

—=

(o

[

I

Manipuri Meitei

Section Id : 342123102
Section Number : 3

Section type: Online
Mandatory or Optional : Optional
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123300
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 3421237549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



& dxoPmaewsf mevae cfd B wdnd wor don duestt I SUATE TR K ARSOf REE SR
|. rmgE Wrs’ cREE
2. WRIW'T RCET
3. o merete

4, BRICE

Question Number : 151 Question Id : 3421237549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dr. oratmeREr MeTaT CWiE B TLLd To7 dr0 40T T 41T TH KU 25500 365 CRefT:
|. rodE Wwsf eims
2. WHIWE NCET
3. o mmete

4. BRICE

Question Number : 152 Question Id : 3421237550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘WRICT ATE AREOIN RACHT REUE ToTs RAnT:

l. erzmoem

[

. C(rEH UUHE
3. "Bl e

4. rE?

Question Number : 152 Question Id : 3421237550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



WRATT AEF ARZOMN RACET RCUE TS RAn:
l. oremeeT
2. CrEW UURE
3. orEEf T

4. oree

Question Number : 153 Question Id : 3421237551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Taf TOf B TRMR TOMR B°58 K& TR 5% KT GPTRIE 4T 75D T CORE-T° AR I” ARRISAT
|. TRE AT RO aEE
2. & wfmol sesf
3. &r cucewst

4, T orEneewEf

Question Number : 153 Question Id : 3421237551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Taf Tof B’ TRiR TOfR 53 K& TR B°574 KT DPTRVE 24T 750 7 CORE-T° ARR°I” ARVTSaT:
|. WEE XU XIW AFET
2. &k ¥fm dest
3. 8k crcewst

4. dr. srERCerst

Question Number : 154 Question Id : 3421237552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



U4 00 WhRETRT TN 05N 20 MOG TR RESH

l. cymmwf

(i)

. AEE SO
3. ond metworf

4. TR UOE BF

Question Number : 154 Question Id : 3421237552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TP 000 WRECEmf TOu S5 SF MOS T%IE RES5H:

l. mmrf

(]

. AEE Tl
3. e marrof

4. TR UOE B

Question Number : 155 Question Id : 3421237553 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘O DUTE 0 AKON RESHT:

1. &eof T
2. eI TR
3. TES UM%

4. WEE URT%

Question Number : 155 Question Id : 3421237553 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘O DML 0 AKON RUSHT:

1. Boof Tl
2. ReT T TR
3. TES URf4

4. WEE TR

Question Number : 156 Question Id : 3421237554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“WRRE UATH Xl THRAT YE° REfT 0RE MAge 1" RROofs mI2fE 85 wof:
1. nélm
2. FE*RT
3. T°miE

4. nadtE

Question Number : 156 Question Id : 3421237554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“WRRE UATH XM THRAT X5 REE CHT MAce 1" RROOfR MIEfE 25 Tor:
1. néfm
2. FE*RU
3. °meE

4. nadk

Question Number : 157 Question Id : 3421237555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FRETIT EOOY ERCTRT KU GREIOET RTH J0T5 RRIAN X°UT 0% B4 250 TREE TE JOFE REFT:
|. ®e'm nrER
2. Wm 5%
3. 933 EER

4, uypd vioT

Question Number : 157 Question Id : 3421237555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FREINT EQOOR SRETRE RUTNE SREIOE! FER Sofs RRIAMT X°UT 038 56 ¢he) TRES Tk COFE RERES:
|. ¥e'm nwER
2. W BR
3. 989 RER

4. uypg vieT

Question Number : 158 Question Id : 3421237556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“WEf RARA'IE O FATHIR A(TH CFRY AN wowe’ iR CoME° UTICHEs WhIF U'IAF &X0 KEr T'Inyie°
ARTEE 2" ARBON REEHL:

L. nmers pEsf

2. OCRAT RORT
3. OfRAT CHET
4. NPFE TRET

Question Number : 158 Question Id : 3421237556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“WET ROHAPDE O EATEDR AT SRR A Wepl CIR% CoNE° UTICHES RN CIAF X0 KLU UIhnge
ARTEE " AREON REEHC:

L. nmers pust

2. OURAT IR
3. OURAT 2FHT
4. R°FE FEEN

Question Number : 159 Question Id : 3421237557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ChREF Bromefmf ‘BrRkeTm AR S8 arofmt:

|. mfmwfr mimefm

(]

. R°FE MERAEH

3. ERTEf RX BRT So°TEf BX ST

4. RFTTE

Question Number : 159 Question Id : 3421237557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TREF FfoReint ‘BOrREeTm A%E30f REE chrofmat:
. mfmefr mimefm
2. B2 MERAER

3. ERrEf RX ERT SoCrEf BE S5Ot

4. ERTTTE

Question Number : 160 Question Id : 3421237558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“Reafl XIIE'E CURAPTRREN 020 TRV FEIRTT B0 2708 RHT8al & HRT Cruaraar | ROTTE BT
RFCR” ARBOIT 7% RATRRA:

L. it omf
2. oRgiRT
3. &wem

4. pfreyRzd

Question Number : 160 Question Id : 3421237558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Rfld RIOCE CORL T REM (B0 TR FRIXCT 0 208 R85 I & 2FT SrTonser | RINTs BRexT
RHCE” AREOIT A% RATRRAS:

L. ¥ ot
2. onaRT
3. dwm

4. pfmePRa

Question Number : 161 Question Id : 3421237559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“RAOTTE WOROR FZfIcE KIVFT TREOMIT RXHM WHOPROMIR FEITAT TRO8O RYHM SRS KXF TOUR KU
WHTE KU 317 ARNIEAT:

1. SmzF FEmom

2. CDRBEF WFET

3. PIEFEF QOfEEeE
4. WK TERTE

Question Number : 161 Question Id : 3421237559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“RAOTTE BOROR BCIIEE KT THE0MDT KWCHM FHOFOIDR RTITT FREEC) KRN SREAT EXE YUK KD
WHUE 700 31" ARNIEAL:

1. SmzF FEmom

2. CIRFGTF BFST

3. COTEER afEfaee
4. WEF TFRCHL

Question Number : 162 Question Id : 3421237560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“TW°S RUMEfef, Afewef/ien afofnfmmt kX kot Se@or?) . . . /U6 St dIes Korre oPrms/mef-
W O EFER/TATE° TUF ROT TH/TRT B58 TORR AR50 88 O0-Ts!:

|. mefmaf
2, R
3. CRROTE
4. meof

Question Number : 162 Question Id : 3421237560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“UW°S RUTMATTS, AfTaef/zr afofofmmt &R kowt/Ae@ot?) . . . /68 SRt @miss kAT o/ mat-
WA FOMT CFER/FATE TTF ROT TH/TRT B8 TOMR® 25507 A58 Garma:

|. pufmart
2. gEime
3. CRROTE
4. meof

Question Number : 163 Question Id : 3421237561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ERfl TRTHZT BWE RIS ERTWT RNOES RRfm5:

|. 3% aIFE OF ITE EF OF CIZE WOHS BRT ACE
2. o ¢iZE EF WER AFE OF (JCE WIHS BHT ACS
3. B3F 4FF 0F (3TE WORE OU 92T BT BHKT ACS

4. 00T 9zE EF T OITE W'ONS WIkK OFF BET #CE

Question Number : 163 Question Id : 3421237561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ERlD SHEDHBT ¥°ME R RRU4ET RNOES RRID5:

|. 3% aIFE OO0 IZE BF OF CIZE WOHS BHT ACE
2. € CIZE BB WES AFE OF (5T WIS BHT AT

3. B3% AFF OO0 (ITE WORE OF 92T BT BHT ACS

4. 00 iz BF 0T OITE W'IAE WER M5 BET ACE

Question Number : 164 Question Id : 3421237562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FAGT! CfoEW IRT IO KEOof z36c ARem KUssm:

l. € uoveyTm» 36T
2. o€ REEA7R0 38T
3. o€ Ri%3% g30E

4. 00T Taneci® TEOT

Question Number : 164 Question Id : 3421237562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FAGUT TfIE W IRT ICIN KOO 36T AROW RUFHT:
l. o Toervfms» 3T
2. of RETERO ST
3. ¢ Rf403% z3eiT

4. oo Tewed% TEOT

Question Number : 165 Question Id : 3421237563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“. .. RiDd 6Wef RMEETRIE WhaR 25 MATRE OF BaIoTs BIONT KUIE UKT RE REasine " ZR50 REg
SRaT:

L. mf aiws

2. Yimegs 2mg
3. olmAf CHET
4. COoR

Question Number : 165 Question Id : 3421237563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

... Rima éwef RMEETRITS Whr 35 MATRs of Ha-Jces Blont Krie U5e R8 Reasine 1" 2550 Rug
SR :

1. wmr g

2. yiwegs 2md
3. olmAf CHET
4. vmeR

Question Number : 166 Question Id : 3421237564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RRfDd 357 SES3MT KRR BRI SRTLER KK MICTRT5T RROdkat:

|. Rfmmerwrsf

(i)

. XfmH &%
3. Rfmap st

4. BRO 0T S*FETE AT

Question Number : 166 Question Id : 3421237564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fesfmal $37 ESZMF M BRI TREDES RRF MIST RIS RROCHRST:

|. Rfmmerwst

(]

. Rfmw dm
3. ®fman dEwf

4. B¥im 0T E*FECEF WU

Question Number : 167 Question Id : 3421237565 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘R OFES’ ARBOT WACE RHUET Nl RRI5E:

|. meFnenEfne EarE

[

. MEFT@ETRed ERmeefze
3. merTeEfReg menfo

4. weEcofzr

Question Number : 167 Question Id : 3421237565 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



WET OfTE AREOT RACE N4UET Nl ERIa:
. mePneEtRed EacT
2. MerTeETReT WEmCe T

3. marneEfReg ornfm

4. meaepfzE

Question Number : 168 Question Id : 3421237566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

E'TEeE RIEE0H &% RIEnnf EOUTl ToFe] Tewel AERIE Efoms :

l. Zomm

(]

el B

4. yeEm

Question Number : 168 Question Id : 3421237566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FrEes RIEsns &8 GAfmrnf koref Tes Tawse A%nfs Ko :

l. Bocvmm

[

el

4. weEm

Question Number : 169 Question Id : 3421237567 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FOEEZf TF & ETR7 KU OBQTAgeT Siraf TATS T°K7 7T TRE RiomwsT :

l. FE—TmE'®

(i)

. O0R
3. maim

4. geaf-omgioy

Question Number : 169 Question Id : 3421237567 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FWESEl TF & E'T5T FRT OBQTReed el TATE T'K7 AW TRE Kiomsf :
l. FE-mRo
2. cone

3. mam

4. geaf-omgioy

Question Number : 170 Question Id : 3421237568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CORMCHE FAT-ALT WOEE UKT 3°C°% WFE AN s Riomrmf :

l. el m=rs

[

. EgEefey RESE
3. Efefme seof

4. EEEOfe) kDS

Question Number : 170 Question Id : 3421237568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TOYNCES FAC-ACT BOSE UKT $°8°5 WEE A NS EIOWH :

l. erof m=TE

2. EgEoft REow

L]

. Efefme Feaf

4. EEEmft) WERYe

Question Number : 171 Question Id : 3421237569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ofResE BATHIOZEN ROTES Ri4R°0 TAFNT RUO% RERss

. m=gefofo

o]

. RE AT 70T

(]

. HIEGEM

4. wErenE

Question Number : 171 Question Id : 3421237569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

of Ros@E! BafHiofzrnf ROTFS Ri4R°0 TAFNT RUOSR REasa

. mweafofe

3

. FETEILT T 0T

(s

. FfELE®

4. eEnemE

Question Number : 172 Question Id : 3421237570 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TEEOMIT KO-, T°FE BYTHIOM TROD TTOTOI °FTEE, REUEMN THE-TSE 3R ROnf TRrss tzies
TRIATE0O T3 ROT RITE ME OIma :

|. BRI ThaTr
2. SRENT THaTT
3. O'meeRfT TS
4. soRNT THACH

Question Number : 172 Question Id : 3421237570 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEEOMOT KO-, T°RE BYTHOMT TROD TTOTOI C°FTEE, REUEIN TRE-TSE $rA kOn TRrss ozfes
AU TR ROT RT3 WE S0 :

|. PRl THews
2. OPRENT THaf
3. CmaNT THaTs
4. momnr THas

Question Number : 173 Question Id : 3421237571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RoBf S TATERT ReRRS chafmrsf :

. m=trz BE mafnfofzE
2. BIRe TEER TUom!
3. efmerRe T°EFH 5Tk

4. mPR TTR QMIoTHR

Question Number : 173 Question Id : 3421237571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B TATCRT FAOFRS ChaTTwf :

|. =z ®mE mafmfofzE
2. BIHY TER TUomEf
3. ofpgPRY TR BTk

4. mPR TTR OmMiofRRT

Question Number : 174 Question Id : 3421237572 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FREfCIEeT WCRBATR BRT RT3 BRI 5%, RNCEIRa 38 RICM RUORST XFE Rd0 T°KF NrEs :
L. mavsmr
2. mavg=efey
3. mosEO

4. mece

Question Number : 174 Question Id : 3421237572 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FRETCIET WCRBATH RRT RT3 BRI T°58, RNCEIRAT C8 RICN RUOFRT X% A0 T°K8 NUEa :
L. maistmr
2. mevgee7ey
3. mosEe

4. mesze

Question Number : 175 Question Id : 3421237573 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



UBIN INERE R0l ARRIEAS :

1. mems mof

(i)

. kA
3. TmETR

4, TrensodT

Question Number : 175 Question Id : 3421237573 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UBIN INCRA Rl ARRIEHS :

1. mems wof

(]

. TEA
3. TmErR

4. Crensods

Question Number : 176 Question Id : 3421237574 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Raf WTEe AR50f AT o Eanf RTN0! I ATa's ox Wb B8 X°ED BRET & 1° ARNIEaf :

|. Tm wwE
2. TF T°0) BOTH
3. % mfowof

4. T CERTE

Question Number : 176 Question Id : 3421237574 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“Rof MTRe’ ARFOF AEaif o& BN KOOI ATCA(R 0% Wa BUE X°ET BRET & 1° ZENSaf :

l. Tty s
2. TF T BOTH
3. % wfewef

4. Tt cERES

Question Number : 177 Question Id : 3421237575 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Masti &% ARIIMT KfseOsnt e met REOTE BEnm ERInm

l.s

b2
-0

Question Number : 177 Question Id : 3421237575 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Mawti &5 ARZIM Bisensnt Sz mer REoRs BEnmf Eranm

b2
R

Question Number : 178 Question Id : 3421237576 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HER ThE ECACUINIART SRDATT R0 TO7F SHNROSE NOSHAT

. ZnEeE owsst

2. EWC oot

L]

. IAfd ooyt

4. aref

Question Number : 178 Question Id : 3421237576 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WER ThE ECACUINIART BRROGT KD 20fF SRNRATE RUEHf @

. ZnEeE owsst

(]

. EWO ot
3. watd owast

4. arot

Question Number : 179 Question Id : 3421237577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FOTRE Mezosys RUTMET 88 TEIOMRT C°IWR T°HH AKT XSUE 708 NATaf :

. ssewm

[

. 9668
3. 9sus

4. cgme

Question Number : 179 Question Id : 3421237577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FOFME z=HTs KEIMET S°E8 TEOMRT S*INRT B AFT XHTE ANE Walal :

l. 9sswm

(i)

. 9§68
3. sgue

4. egme

Question Number : 180 Question Id : 3421237578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

£.S. Herskovits B FREIEEE Melville ). Herskovits Bf ofI&Efmds T3 ohoforysf :

1. Dahomean Narrative : A Cross — Cultural Analysis

[

. The Ritual View of Myth and the Mythic

lad

. Language in Cultural and Society

4. The Science of Fairy Tales

Question Number : 180 Question Id : 3421237578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

E£.S. Herskovits B BRIEEE Melville ). Herskovits Bf ofI@ElmO% T°KF ohafmrsss :

1. Dahomean Narrative : A Cross — Cultural Analysis

[

. The Ritual View of Myth and the Mythic

LS ]

. Language in Cultural and Society

4. The Science of Fairy Tales

Question Number : 181 Question Id : 3421237579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T° B9 KT KCAMST SHeTl Tl BRI RIOWT
1. af, meE, w7, 3
2. W, W) ClAFE
3. ROXF TORES OfDA

4. mf, of BFw

Question Number : 181 Question Id : 3421237579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T J'aw BT Eermar SR Wl FRE Riemst

1. af, meE, T, 3

(]

. I°F, WY UTl°F%
3. AORF TORES OfDA

4. mf, of BFw

Question Number : 182 Question Id : 3421237580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘EtcEmf NaRe’ BOwTE HAl WENT ThEs! :

l. ssus, mERTR ciowaf

[

. YgEW, UEHTT OOk
3. sg¥e, W TORE MO

4. 9gsE, ANICHRETHE Mok

Question Number : 182 Question Id : 3421237580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘EetceEml WaRe’ BOWE Hal WENT ThEm! :

l. ssus, meres comef

-]

2. sgey, TERDT OO

L]

. 9§8E, M7 TARE MUk

4. sgee, ERICRUMRE OO

Question Number : 183 Question Id : 3421237581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3T BEPOBT OFT-CORT K WAC 96¢% BT WIE 75 BRER TS S3rOfOnT GAmams RUsT :

|. 99 maine
2. BRERES ARIe0 WAk
3. sWe MeRT

4. mefsze MAKT

Question Number : 183 Question Id : 3421237581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I BEOBT OfT-CORT K WAC $6¢% WIVF MIF 75 BRER TS Sarofomf Onfmmmf kosf :

|. 93 meine

[

. BECRES ORI mase
3. SHD MERT

4. metsze MEKT

Question Number : 184 Question Id : 3421237582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“FIBR BR ©T WROD K% KON TR-TC To8 B0 ZoRE OATERT SRTROO K0T T0E 71 THE 10

DMETES AWTWI 1" MICTE WMCROOT WREHe Meom :
L. &5 oreEner
2. Bar3RCE
3. WfofD ¥ TeinE

4. 7 wft 5w

Question Number : 184 Question Id :

Correct Marks : 2 Wrong Marks : 0

3421237582 Question Type : MCQ Option Shuffling : No

“HIER B TN WROD KT KT TR0 o8 M0% ZORE GATRRT SWZRO0i K0T W0 TN TRE X0

DMZITE AOTR 1" MICE EMTLOOT BIEw MEORT :
L. &5 orEnaf
2. BE"FRCE
3. Wfofn & TriRe
4. 7 ot ow

Question Number : 185 Question Id
Correct Marks : 2 Wrong Marks : 0

: 3421237583 Question Type : MCQ Option Shuffling : No

OO FECTET TR0 OBRIRT BURCrER Tomail #EeT 1" ARRIEET

|. mawiz T=mafE

3

. RORTE 0 Wi
3. IR oWk

4. f weey weafi

Question Number : 185 Question Id
Correct Marks : 2 Wrong Marks : 0

: 3421237583 Question Type : MCQ Option Shuffling : No



“EOREN FOCTET TOTNI0 OBBIRT ERCrER ToIim #50f1” ARRIEHT |

|. rowfe T=mcfE

o]

. RORTE CHe Wi
3. LR Tl

4. 3f meey mweatn

Question Number : 186 Question Id : 3421237584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3f 2 0ofT OTHTRTE T ZLfFO TF B0 0IRT ARF 7 Af ofeofeImaml TREw! :

|. pEef maErEs

[

. BTl Ree

(]

. Wfafey Bevs

4. moREs ofma

Question Number : 186 Question Id : 3421237584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 3f ofz OERTR(E ‘% 7ofFo TFE B0 0INT 758 »f a1f ofefeIant Thss

l. EEet marrReEs

[

. BTl Rae

sl

. Wfafe Bars

4. mONEH ofmA

Question Number : 187 Question Id : 3421237585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A7Ee) 4% FRCM £I0Z BUIMETR AERTMN GAIRR THA°K BOTOE°0T MAKT ERFE RATH :

|. ggse
2. 2000
3. oo

4, go0z

Question Number : 187 Question Id : 3421237585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A8 0% BRCM KJ0IE RUTMETR ACHTMNT OATRE THAR BETOTOT MERT ENIE KA :

|. egee
2. 2000
3. oo

4. gooa

Question Number : 188 Question Id : 3421237586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"BE @R el 5% ShafTel TREST kil XHE Refpert ART offat I” Srefrofint ThEsT :

l. w3 wAkw 3of
2. wzis me
3. mfafm whe »fR

4. petd mroRES

Question Number : 188 Question Id : 3421237586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"BE @A FOFC AKE SROMTOT TREST Kol XF5 Xefpart 250 ofmat 1I” Srafmoinf TEaf :
|. &5 EAkw Foof
2. wzhs B
3. miafm we BIRY

4, restd mroREs

Question Number : 189 Question Id : 3421237587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“ONTMOERE BITOR WENT £ T OfpRziEl 5E & BT %1 T°RUS OUNT B0 258 RE " ARWISE! :
|. TCwsw wfowo!
2. uf I8t oo
3. T°COEF UiCHE

4. ©% T BOZF

Question Number : 189 Question Id : 3421237587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“OfTMERE FOTORe OFENT & Tof ofpRzi@t 5F 5 BT %1 TRUE OdUnf B0 758 RE 1" ARNIEa! :
|. Tdmsn wfvwo!
2. uf3zfe dopef
3. T°CUEF UIEHE

4. Tx T Boze

Question Number : 190 Question Id : 3421237588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ZOFNT BRI ZaF RefERnf 25ofl Thee(sses) F¥R Eas TREH! :

l. oofm zm2

o]

. TAFER Tl
3. oTw oAl

4. #Ef Towf

Question Number : 190 Question Id : 3421237588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

woEnf BRI da% RefERnf Sreflr Thae(ssns) B8R Pwuns LHE5HM :

l. oofm T2

o]

. TARER ToT
3. oTw oA

4. @rf Towf

Question Number : 191 Question Id : 3421237589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OISR UERT CRNE, F, ONE Thal SfO0T RCORE RART RHOTHT:

A. BT
B. #@m=
C. #n
D. cofm

Choose the correct answer from the options given below:

1A B, G, D

[

B, C, DA

[F5]

.C,A,D,B

4.D,C.B.A



Question Number : 191 Question Id : 3421237589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OIS BURKT SRNE, K, ONF THAT SfQ05 RUORE RART RHoMHT:

A, ®BIT
B. #w=
C. #n
D. et

Choose the correct answer from the options given below:
1. A B, €D
2.B.6,D.A
3.CA BB

4.D,C,B, A

Question Number : 192 Question Id : 3421237590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

mefEriie EASCil TE5E Enef Trentsnt Baamofunt ro-srsst

A. oPdir RU TRT

B. so*xer AU Sars

C. UuaR30E RU oo Ems’

D. ZrafI 03wk RT Ma°Fos

Choose the correct answer from the options given below:

1.A,B,C,D

[

.B.A.C.D

[

oD B

4.C,D,B,A

Question Number : 192 Question Id : 3421237590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



mafEriHE EAGCIT TEEE ERef TrERSEN? BRI kefumnt ho-Rossnt

A. oPdir RU TRT

B. so*mer AU cefs

C. C=e"REF RU oo fkmt

D. SrefIn3F XT ME°FCH

Choose the correct answer from the options given below:

1A B, C;D

b3

B, A G D

sl

Ao, BB

4.C,D,B.A

Question Number : 193 Question Id : 3421237591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

©BEF (CROAF 7°8) U K8 ChalTEl TAC THCHf

A. EnErTeE meor

B. Ex3 mizfogFuos HEs
C. &fn R=3E mof

D. &) Rovswt mrmTr

Choose the correct answer from the options given below:
1.AC,D,B
2.8 D€ 'B
3.D,A.C,B

4. D, B.A,C

Question Number : 193 Question Id : 3421237591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



©BEF (SROAF 7°8) U K% ChalTEl TAT TH TR

A. errRrTes meof

B. m®a mfafaatraes R
C. &tfm R=s maf

D. &) Revswt mrmor

Choose the correct answer from the options given below:

1ol CL BB

b3

A CB

sl

B o -

4.D,B.A,C

Question Number : 194 Question Id : 3421237592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CRPFSE OUIBNT TEAF AfIe°7 ® 358 RefRRofont TAE-THTsS

A. TrEF oEET
B. erme
C. mrem
D. m=nmr

Choose the correct answer from the options given below:

1B, A D, €

[

B D AT

[

o, B, D

4.C,B,A,D

Question Number : 194 Question Id : 3421237592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



UTPESE OUIBNT TEEF EMI0°7 5 388 RefRAofon TAe-TETH

A. TEREF oEEf
B. e'me
C. mfa*m
D. msnn

Choose the correct answer from the options given below:

1-B, A, D, €

b3

B, D AE

sl

A, B, D

4.C,B,A.D

Question Number : 195 Question Id : 3421237593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RE0E™T, WCREWE REST, 0RO {75 TR CSH/INT FTE7 B I RROKEY “TOFE RIE RAN Eh-RC0Ss
1 i ¥ o

A. TRE C'TES

B. wre fre'm BRE
C. 58 wum

D. rures

Choose the correct answer from the options given below:
I.A.C,D,B
2.A,B,D,C
3.CRBAD

4.C,D,B,A

Question Number : 195 Question Id : 3421237593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



REC8™, WRANE YEI'T, (ORI aIF5 TRA! CE/IN°D EFET B3 M RRUFLT TOTE K78 RAN Ri-Rigar:

A. TRE C'TES

B. wre #rom BRE
C. 53l Jmm

D. rures

Choose the correct answer from the options given below:
L& CDB
2.A,B,D,C
3.C,B,AD

4.C,D,B,A

Question Number : 196 Question Id : 3421237594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

rfostfm Tofr B dams ofls T°hF MERfENT TAE-THES :

A, wsfmm Tozis

B. Exfma dsrerene
C. msfmd FaXTEe
D. wmfman mazfs

Choose the correct answer from the options given below:
1A BB
2.A,.C,D.B
3.B.C,A. D

4.D,C,A,B

Question Number : 196 Question Id : 3421237594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ofmstfm Tofr B d2mss UfIe K0 MERTENT TAC-THER :

A. Temfmm Tozhs

B. imfma dsrereae
C. Fafma mareae
D. mRfma mazf

Choose the correct answer from the options given below:

1.C,A.D.B

b3

A.C.D.B

sl

B, G, A, D

4.D,C,A,B

Question Number : 197 Question Id : 3421237595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TUFFRE" (Francis Barton Gummere), R (George Laurance Gomme], N8R RFZR (Wilhelm Karl Grimm), RES® (Francis James
Child) M TRTRF8 KAt Ra-RoEa! ;

A see - g8
B. sgee — ggue
C. 9539 — s9e@
D. sees - 5556

Choose the correct answer from the options given below:
[.LA,B,C,D
2.D,A,C.B
3.B.DAC

4.A,D,C,B

Question Number : 197 Question Id : 3421237595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TUFFRE" (Francis Barton Gummere), R (George Laurance Gomme), BT RFTAF (Wilhelm Karl Grimm), KSR (Francis James
Child) If TIPS RATW Rd-RUEa’ ;

A saee — gpee
B. s¢ee - gese
C. s98¢ — 99¢¢
D. sgeq. - sese

Choose the correct answer from the options given below:
[.LA,B,C,D
2.D;AC.B
3.B. DAL

4 A D,CB

Question Number : 198 Question Id : 3421237596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@ RE RiEfRRe, RIS, BefORES B RRT, 898 IO U 5% Snefrofonf re-Riss! :

A. omEf BE QoeMIRE ofR-afcr
B. romofzr woEn efmarRe

C. = 0°8"1 T°Cx & MW

D. xaze weEs ofeernt

Choose the correct answer from the options given below:
I.A.C.B.D
2B A.D.C
1. B.BC A

4. D. B.A,C

Question Number : 198 Question Id : 3421237596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ok RIETREM, CHTO, ETONES B FR°T, 898 BIO U 53 S5 Tofmm! ko-Rosa! :

A. omaf BE netmine efreafer
B. remofer woTs afmeewe

C. = 0*8°7 w°Es & mim

D. scze TrER ofmeefnf

Choose the correct answer from the options given below:
1.A,C,B; D
2.B,A,D,C
3. B.BC A

4.D,B,A,C

Question Number : 199 Question Id : 3421237597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aedeml FMIOmIs trafsoimmt mo-RUss! :

A, Tem MERERTH

B. mExfr »emErfro
C. msfmf BRSO

D. d=fwr Trsmnt urnn

Choose the correct answer from the options given below:

1.A.B,C,D

[

.B.A.C.D
3.C.A B, D

4.D,C,B A

Question Number : 199 Question Id : 3421237597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A oeml FMIOmTs fralfEofmmt kh-RUsEs! -

A, Too WreniE

B. Wrmfr mmrire
C. msfmf RERm

D. dafwe drsmr uisg

Choose the correct answer from the options given below:

1A B, C;D

b3

B, A G D

sl

A, B, D

4.D,C,B.A

Question Number : 200 Question Id : 3421237598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RRFAET T4 REBIRET 60 TOmT BN Bonf RTDR Rw8 ke-ROSa

A. £0) TR o0) AEE AEU MOTES
B. m3in XaT 0 KA 4R TH
C. =D TFRF g0 BMD T°HT Of D53

D. gRw XaT o soUT ¥F
Choose the correct answer from the options given below:

1.A.B,C,D

[

.A,C,B,D

[

AR, C

4.D,A,B,C

Question Number : 200 Question Id : 3421237598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RRRASET K RERORCT o0 TOBT BRI BT RUDR 35% Rb-ROSar ©

A. =0 T°RE @0 ABT AET MOTES

B. mRu Rav a0 Rewrs oS Tm

C. =D TFRE g0 BMD T°HT Of IS8
D. mRu Rav v 30UE B

Choose the correct answer from the options given below:

1A B, C;D

b3

AC B, D

sl

B B BT

4.D,A,B,C

Question Number : 201 Question Id : 3421237599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRER GRATT REATERS ORafORks ToRe BOSTET FRh-FROEaA!

A, meEmodT

B. mmesmode
C. mowfwfmade
D. sesmeamade

Choose the correct answer from the options given below:

1.A.B,C,D

[

B A D.C

[

=B DL C

4. A,D,B,C

Question Number : 201 Question Id : 3421237599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TROR OFFEIT RERTERE OFafORkEt TRy BOSTET Fh-FROSa!

A, TeEmadE

B. wermede
C. maysfyf mavde
D. mesimeamade

Choose the correct answer from the options given below:

1A B, C;D

b3

.B,A.D.C

sl

B A O

4. A D B,C

Question Number : 202 Question Id : 3421237600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WITEMRBT BAFS SOOI Eh-RUSHRT :

A. mCmaET

B. uwnfessiamt

C. memaciops

D. mamafrofBznine

Choose the correct answer from the options given below:

60 T BRE R

(i

AB, D, C

el

Lok, B, D

4.C,A,D,B

Question Number : 202 Question Id : 3421237600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



WITEMRBT BAFS SOOI Eh-RUSHRT :

A. mCmeET

B. unfesiamt

C. memacdiops

D. mampafrofBznime

Choose the correct answer from the options given below:

foae 0 B By

b3

AB, D, C

sl

A, B, D

4. C,A,D.B

Question Number : 203 Question Id : 3421237601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRTREOE, RICRE RN, oAt Xe9afis, W of. D3F KAT EON 3 el It ko-RUws! :

A, FrOMEORIT 0T TF e
B. ruima’ pewe

C. ofEfaie3 Luimemf

D. T more TF ¥

Choose the eorrect answer from the options given below:
1.B,C,A,D
2.4, B; D, C
3.DCAB

2. CDAB

Question Number : 203 Question Id : 3421237601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TATREOE, RITRE MR, ot XeIafiz, W of. B3 KWRT IS Shefrofont kr-kowas :

A, EfOmEORT 08T TF BERIT
B. ruime’ mewe

C. ofgfafre3 muimef

D. w° mame T°F Rt

Choose the correct answer from the options given below:
1.B.C,A.D
2.A,B,D,C
3.D.C,A,B

4.C,D,A,B

Question Number : 204 Question Id : 3421237602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RIETRE ROROREGT FOEs asefmeofmnt ke-soEm!

A. = marzn

B. = ofman

C. zfofE=a FIa°50
D. 7 mmomamE

Choose the correct answer from the options given below:

1: By A C; D

[

AT AD. B
3.C. D.ADB

4. B.C, DA

Question Number : 204 Question Id : 3421237602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RIETHE ROROROGT FOEs asafmefmnt ka-moss!

A. w margn

B. = efmen

C. cfef@m= s-92°850
D. 7 mwmoBamT

Choose the correct answer from the options given below:

1B, A, C;D

b3

C. A DB
1.6 DAB

4.B,.C,D. A

Question Number : 205 Question Id : 3421237603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

»ERfE MPOREIMT B BRC 9668, S6H8, S6%e, $668 B E'INIE SRafmofms! :

A, vfemesf 50T
B. ®ft \f &arw

C. mvsm o539

D. wdefn sowsz

Choose the correct answer from the options given below:
1A B;C; D
2.B,€. 8. D
3.B,A,C,D

4. D, B.A,C

Question Number : 205 Question Id : 3421237603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BERfG WOREIV B BRZ 9668, S66e, te%e, 9668 & E'IN(E Shafmrofmas :

A. tfemEsf 50T
B. =ft mf motw

C. mus's o3

D. widefn sowsz

Choose the correct answer from the options given below:

1A B, C;D

b3

B A:D

sl

B, G D

4.D,B.A,C

Question Number : 206 Question Id : 3421237604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

MSEh ERENT RUIme NECHR Rls MIEWT X4Usf Sormkt ARE0 s anafr worsf :
A. mwnEiE
B. xemda™3

C. vm3e mrsf s
D. xerua®s

Choose the correct answer from the options given below:
1. A& B Only
2.B & C Only
3. A& C Oaly

4.B & D Only

Question Number : 206 Question Id : 3421237604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



et EIENT RUTMeT NEURR Rls MIEWT XHosf donnf AR50l s anafT woraf

A. mrmEE
B. xmde*3
C. vo3e mrsf oH=s
D. xerret3

Choose the correct answer from the options given below:

1. A& B Only

I3

.B & C Oaly

(¥

A & C Only

4

.B & D Only

Question Number : 207 Question Id : 3421237605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fedt O GERACE OTFM WM THROT CIENEE B8 CRET MF3TN RETRTE Rt CimaofmaT:

A. mins
B. iz
C. pmins
D. n2rs

Choose the correct answer from the options given below:
I.A&Bonly
2.B & C only
3.C & D only

4. A& D only

Question Number : 207 Question Id : 3421237605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Fedt O WEERATE OTIW ETMT THROD CISIEE B8 SHET O30 METRFE ot ofmaofms!:

A. BERE
B. nimerz
C. posins
D. ngrz

Choose the correct answer from the options given below:
I.A&Bonly
2.B & C only
3.C&Donly

4. A& D only

Question Number : 208 Question Id : 3421237606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2k O THRAT RRCE CRECFRNT S30 M3 KBSl IaT:

A. oefr

B. cox®

C. ol

D. vee

Choose the correct answer from the options given below:

1. A& B only

2.B & C only

3.C&B only

4.C&D only

Question Number : 208 Question Id : 3421237606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



2k O THRAT RRCE CRECFRNT S30 M3 KBSl IaT:

A, opfr
B. rorn
C. ggi
D. veE

Choose the correct answer from the options given below:

1. A& B only

b3

.B & C only

sl

.C & B only

4.C&D only

Question Number : 209 Question Id : 3421237607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR (FORNT, SRETT B'IF RACTERS MATREAT RUNIEE! RBIRCT RATT R°TW SRofIn, Ro-RISH :

A. REs’ omy
B. sizofm wifs
C. mrfars

D. wam vR wef

Choose the correct answer from the options given below:

I. A& Bonly
2. A& Conly
3.B& Conly

4. A& D only

Question Number : 209 Question Id : 3421237607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T (FORNT, FREIT BT RANZERD MATREATN R0 RaEE! RRIRCT RATT W SROMm, Ko-RUSaT :

A. RET omPY
B. seofn #fme
C. rfdns

D. mwim vR wef

Choose the correct answer from the options given below:

. A& B only
2. A& Conly
3.B& Conly

4 A& Donly

Question Number : 210 Question Id : 3421237608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RACZEEST STTHRITIT FoFs o0 REl OHATRE Tof D :
A, FTRET EMTR
B. ¥*'m =%
C. ocul%
D. #z7 eres

Choose the correct answer from the options given below:

[

. A & B only

(]

. A & C only

(%]

.B & C only

4. B & D only

Question Number : 210 Question Id : 3421237608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RROzEES STCRICIT FoFs o0 REl OEATRE TIT I

A, ETRTr RMER
B. w'n 7%

C. cull®

D. #%7 cres

Choose the correct answer from the options given below:

1. A& B only

b3

.A & C only

sl

.B & C only

4.B & D only

Question Number : 211 Question Id : 3421237609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

® @Hf 98¢ WERM 96%% 7 CTORARTE HEEfHT[MEI‘f Loyl Em WofRmsr

A, TeafRE Gireme
B. oroimmt ofeme
C. omes3 S,
D. ximovs ¢pn mEsfo

Choose the correct answer from the options given below:

1. A & B only

(]

.B & C only

(%]

.C&D only

4.B & D only

Question Number : 211 Question Id : 3421237609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



% qﬂf 9EL¢ MERHM 96%% 7 CTORHRTE HEEfHT[MH"f Lirzeyeaml Em wofnmsr :

A, TeafRE Gireme
B. oroinmf ofneme
C. omeA3 siremwe
D. nfpavs CuR RERfe

Choose the correct answer from the options given below:

1. A& B only

b3

.B & C only

sl

.C&D only

4. B&D only

Question Number : 212 Question Id : 3421237610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tfma et T PReF ARE REIO! BICEMIERT ol ¢00 TF FACH T40F I Revmof 398 TR TRA! ORMars’

A. mae
B. @mof
C. Z'rer o5k

D. icw wezsfef
Choose the correct answer from the options given below:

I.A&Conly
2.A&Donly
3.B & C only

4.B&Donly

Question Number : 212 Question Id : 3421237610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TIIRIT 70 E5aF AKE RETOF EISEVIERT 2R #00 W FICTH T4 1 ROCTOT 358 TR RS ORRAms

A. mae
B. mof
C. @'myw 5ink

D. Hcs mezstzat
Choose the correct answer from the options given below:

I.A&Conly
2.A&Donly
3.B & Conly

4.B&Donly

Question Number : 213 Question Id : 3421237611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

METE Ftc TR RERLMEAT THAT OMCTNQATE RIAFS RA0msf

A. % iz Fr°
B. & ¢ju pEe
C. gwism o Fe
D. urism ¢iT BT

Choose the correct answer from the options given below:

1. A& D only

(]

. A & C only

(%]

.B & C only

4. B & D only

Question Number : 213 Question Id : 3421237611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Wa'E RRCCR REIMMYAT THAT ONTRGATE RIOFE RAOMHAT

A. T dr Fre
B. @ djv pwe
C. grism ot F°
D. uwfsm oiv T

Choose the correct answer from the options given below:

1. A& D only

b3

.A & C only

sl

.B & C only

4.B & D only

Question Number : 214 Question Id : 3421237612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
BTl BaPReIRS B ROMINT KUD HEE B2 n0fOsT :

A. ReFEs 3T°R0
B. ®°zomt) T°F E°HET 2740
C. 3°2°50 T°F TTEET ST80
D. gm0 TF 5 TRe®
Choose the correct answer from the options given below:

1. A& B only

2. A& Conly

L

.B & C only

4. C & D only

Question Number : 214 Question Id : 3421237612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BOfRit sarReIRR Foemmfmmf RCO REE Femofma :

A, RoRD TTED
B. #z-m0 TF Fe#ET Tnae
C. #°c°mn TF TEESET T

D. gm0 T 57 vomg®

Choose the correct answer from the options given below:

1. A& B only

[

. A & C only

(5]

.B & C only

4. C & D only

Question Number : 215 Question Id : 3421237613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BEOT, OBFE (Stith Thompzon) T ©E ShafIrofmsf :

A. 7 BTy

B. = ¥5m T ® ET®

C. afrie g'mese

D. m Wrx » TreafEe Eree

Choose the correct answer from the options given below:
1. A& Conly
2. A& Bonly
3.C & Donly
4.B & C only

Question Number : 215 Question Id : 3421237613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BAEME, OIFS (Stith Thompzon) T B¥ Shafmrofmsr :

A. o BT

B. 5 #5m Tk ® BT

C. oofiE Fre's

D. w- mFs » CrealEe FPrate

Choose the correct answer from the options given below:
1. A & C only
2. A& Bonly
3.C & D only

4.B & C only

Question Number : 216 Question Id : 3421237614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

METET HAFE SHefTOfnmf KUDs ReREfZIE0 TROD AT STRBf RoOFs CCorsH :

A meweeEtef
B. mafy®
C. gfs®

D. ofmzefr

Choose the correct answer from the options given below:

1. A & B only

[

.B & C only

L

. C & Aonly

4.C & Donly

Question Number : 216 Question Id : 3421237614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



MEFET KOFE SHATTOfInf KUDs ReREfZIEO TROD 2T SERBf Rors Trorss!

A. wemtEef
B. mofy®
C. gfm

D. ofmzafm

Choose the correct answer from the options given below:

1. A & B only

(]

.B & C only

Lad

.C & A only

4.C & D only

Question Number : 217 Question Id : 3421237615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

#f oo TeEfnsT Fors Roeomf @xafr woist

A, 5 MRS ORHRCTR
B. 5f Trsf% TE T° mefonne odsef
C. mf ERlel of RpuiRe

D. oo mRes T° SECIOE T°F BIRe

Choose the correct answer from the options given below:

1. A & B only

-2

.B & C only
3.C & Donly

4.B & D only

Question Number : 217 Question Id : 3421237615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



»f e TEEfnsT e Roromf @nafr west

AL R MOORD OBHECTR
B. 5f ©r#fk T°F T° RefoRiie oot
C. sf ewfef afrprine

D. *me wHos T° SIETCIOE T°F BIRD

Choose the correct answer from the options given below:

1. A& B only

[

.B & C only
3.C & D only

4.B & D only

Question Number : 218 Question Id : 3421237616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
“STmERe ZICHBT BETR OFEEZ TROD TRIRMT G0eIofl Tt KTE-RER 290 TRFE Oa-mofls Jogx &% 330

TR K0 OFIRSI, F734% RITMES OfI2E 200 I "A5%T8 KITS TRE. RePI0f BE5 Reva :

A, OMPI0°F TERCES
B. Cuzwzw ogfiaee
C. rurmar Geems Rofs Sreiosm &Rk

D. daemmt ToabTm WRAE RAACT
Choose the correct answer from the options given below:
I.A& Conly
2.A&Donly
3.B& Conly

4.B&Donly

Question Number : 218 Question Id : 3421237616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“drmRe BT BEMR CAEEZ WROD TRANT Genofn THT RTERERN 29 TRFS GaIoins e KR 3B

TR TKT OIDEM, F7a4% RUIMEE M8 500 I *ARN1E RITR TRt REPI07 R5E Reema :

A, OWOF TERTE
B. rozwzr mofziaew
C. ruimer daems Bofs Sweimsmt wxf

D. daemnt Trobam TRRE RAIET
Choose the correct answer from the options given below:
I.A& Conly
2.A&D only
3.B& Conly

4.B&Donly

Question Number : 219 Question Id : 3421237617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TSTE REF TE FIRTRR F5E SCHOME03 TWTUR U555 REF TR CPFZITR0 4N TCHO TRA! BOfTS NEF TR

YAT EIRTHN %% B°5T FIRT TOReE :

A. maRZ TRt
B. sicmnf
C. zreomf
D. ma®

Choose the correct answer from the options given below:
[.A&Bonly
2.B&Aonly
3.C&Donly

4.B& Conly

Question Number : 219 Question Id : 3421237617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Te'TE REF K EIRTNE RAE CHOMETS TR U588 REF Tk (FRZICAT S+ GRS TRE! BOTVFE REF TH3

YRU EIR TN F£724% B'50 BT TN TERa :

A, moszmast
B. zRcwaf
C. zReomsf
D. mavin

Choose the correct answer from the options given below:
I.A&Bonly
2.B & Aonly
3.C&Donly

4.B & Conly

Question Number : 220 Question Id : 3421237618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FUfmet 95 &% TS EUiRefoss

A. Fresfned, TRO, T Omieems, OB
B. manfr* g, 7RO, TETCMIaems, OB
C. gre=sfn=d, vz

D. gre-sfneq, ogfign

Choose the correct answer from the options given below:
1. A& B only
2.B & C only
3.C&Donly

4.B & D only

Question Number : 220 Question Id : 3421237618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



pUfmef &5 &8 WIS BUiFefoss :

A, FReEfed, TRO, T OMIeTm, OB
B. maafm g, TE®, TETCImIa-m=s, Omm
C. gre-8fne3, vz

D. gre-sfr=3, omfign=

Choose the correct answer from the options given below:

1. A& B only

b2

.B & C only
3.C& Donly

4.B & D only

Question Number : 221 Question Id : 3421237619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Frfmet St RAN T RER OF AFF BECIT Ty BUiwa

A. FreEeEined, MEOE ™, TOMmiaems, Om
B. rze8fre=3, MEOEO, TEIMMIEeTs, 05N
C. megemeT, THOTM, TELCCMIEeTes, R

D. #reegfn=3, vz

Choose the correct answer from the options given below:

1. A& B only

(1]

.B & C only
3.C&Donly

4.B & D only

Question Number : 221 Question Id : 3421237619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



pEfmet Smf RANT TaRsR 35 dFF BECFTrn BUims

A, FRE"ETRe, MROTEM, TMMIET4, OB
B. #reesfnea, Mpoeee, TEIOMIimes, O R
C. mezemeq, MEOT, TELCMIaeTss, (XM

D. gre-sfn=q, vz

Choose the correct answer from the options given below:

1. A& B only

b2

.B & C only
3.C& Donly

4.B & D only

Question Number : 222 Question Id : 3421237620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
O7ATERE BEOTOMON, ST0fiR e aloN TROD I0%% T°INE A°RE BT T T'5T RUXTRTE TFE TN

RAIEEO 3wy apafTnf:

A, RfEfRE ROFORGT
B. »f wet weatnm
C. B'e 210 &% T°EaaT

D. maezx
Choose the ecorrect answer from the options given below:
I.A& Conly
2.A&Donly
3.B & C only

4.B & D only

Question Number : 222 Question Id : 3421237620 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
OATERR WEOfOf RN, forfiR aReafoN TROD 9% T°INE A°RE B°EC/T Tk T'A FIRTRTE THE TRE

RAIEEO 3wy apafTnf:

A. Rfafar REFORLE
B. »f wet weatnm
C. B'e 210 &% T°EaaT

D. maezx
Choose the ecorrect answer from the options given below:
I.A& Conly
2.A&Donly
3.B & C only

4.B & D only

Question Number : 223 Question Id : 3421237621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

zf. of. PUEdv RECIAMT RUTHOTR ACHTRE ShafTofmsS :

A. o BfEE dumf
B. TsE
C. cmg~nf ErcEs

D. 2rE=f3l Th QW

Choose the correct answer from the options given below:

1. A& B only

(]

. A& D only

5]

.B & C only

4. B & D only



Question Number : 223 Question Id : 3421237621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
zf. of. Usdr REziamt RUfmofs AT TRis Srefmrofms :

A, oE BfEk dERf
B. mzeE®
C. cmg-nf ErcEs

D. 2rEmf3l Th QW

Choose the correct answer from the options given below:

1. A& B only

b2

. A& D only

8]

.B & C only

4.B & D only

Question Number : 224 Question Id : 3421237622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3ors mxmnt oefdd Befor BRTER CI ‘78 Br 3470 340 BT &6' ARTWRT | REROF REE SRafT TRE! ATRTW

IO

A, ¥7IcRER 3531
B. PuETEr BTzR AT
C. oegs Zshnf mer

D. mafowt ms

Choose the correct answer from the options given below:
[LA&Donly
2.D & Aonly
3.B& Conly

4.C&Bonly



Question Number : 224 Question Id : 3421237622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3ors BEmt otdd Betor BRUER CI ‘F8 By 3710 340 BT &6' ARTOWRT | REFOT REE SRaTT TRET ACTRTN

IO

A, ¥7IcRER 3531
B. PuETEr BTzR AT
C. oegs Zshnf mer

D. mafowt ms

Choose the correct answer from the options given below:
[LA&Donly
2.D & Aonly
3.B& Conly

4.C&Bonly

Question Number : 225 Question Id : 3421237623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BOER BOs T BoEs ShafITN BUT °K% URRL'E WUCT AROFSM- 2
. ATEE FORNT: T°C FERLME H0T

. TIE3s

. FEOlE TORE 30EE

O nNn o »

. mEOIE LK TER°C

Choose the correct answer from the options given below:

1. A& Conly

[

A& D only
3.B& Conly

4.B & D only



Question Number : 225 Question Id : 3421237623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BOEN Bos m BorE SRofIT BCU K8 URRLE WUIUl AROFSIe 2
. ATER (FOIRNT: T°C RERETRE 0T

. ZIEgs

. FEOIE TORE Z0EE

O nNn o Pe

. WEafE TX TERT
Choose the correct answer from the options given below:
1. A& Conly
2. A& Donly
3.B& Conly
4.B & D only

Question Number : 226 Question Id : 3421237624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
TA'S Weem clerm mRfm
Al ERr-—RB—7R 1 | #fze #fais
B. |f® mam W% XMW 1. |der Siets

C. |Rfma wre'r envfms’| 111 | mraed

D. |ome w5 w5 IV. |t 563

Choose the correct answer from the options given below:

1.A-II, B-1V,C- 1, D- Il

[

A-LB-1IV, C-11. D-III

el

CA-IL B-1, C-III, D- IV

4. A-LB-ILC-IV,D-III



Question Number : 226 Question Id : 3421237624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LIST1I LISTIT
TA'E Ween Gaen wRim
A|AEAER-—AR—R 1 |Afee Afas
B. |dm mew w5 FMON 1. |Zsr et

C. |Rfma wrer Exvfms’| 11 | mrsrd

D. |omE RRE BET IV. |E% %03

Choose the correct answer from the options given below:

1. A-II, B-1V, C-1, D- III

[

.A-L B-1V, C-1I, D- III

5]

.A-IL B-1, C-1I1, D- IV

4

A-LB-1IL C-1V, D- III

Question Number : 227 Question Id : 3421237625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
e e on
A |wfr e I |Eumr
B. |mdtmmf II. |odnEw
C. |Femmms 1. |wars
D. |Wnfzmf IV |ofosw mRE

Choose the correct answer from the options given below:

I.A-L B-1V. C-1II. D- III

(i)

CA-IV,B-LC-1II, D-III

(el

CA-IV,B-11, C- 1, D-III

4. A-1 B-1II, C- 11, D- IV

Question Number : 227 Question Id : 3421237625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
el & o
A | mis mesmm O Kelvliincy 3
B. |mdtmmf II. |odnEs
C. |Sremamf 1. |Tarm
D. |wefamf V. |ofmsw war

Choose the correct answer from the options given below:

.A-1B-1V. C-II, D- III

[

CA-IV.B-1 C-1II, D-III

3.3)A-1V,B-II,C- 1. D-IIT

4. A-LB-1II, C-II, D- IV



Question Number : 228 Question Id : 3421237626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
RefER TKE
A |EORe ez | [ |Te B° OfRITh
B. |Ras II. |»fer me
C. |zEml Il |COEF3F BETR AT
D.

O'MERYE ST | IV, | REES T TRAE

Choose the correct answer from the options given below:

1.A-ILB-III C-II, D- IV

(i)

CA-LB-1V, C-11, D- III

(el

CA-IILB-IV, C-1,D-1I

4. A-1IL, B-1, C- IV, D- 11

Question Number : 228 Question Id : 3421237626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
RerfmR THEE
A |momel ez | [ [T B° OfRICh
B. |Ras II. |»fer me
C. |zzwl Il |COEFEF BCCR AT
D.

O'MERYE ST | IV, | REES T TRAE

Choose the correct answer from the options given below:

1.A-I B-1IL, C- 11, D- IV

(i)

CA-LB-1V, C-11, D- III

(el

CA-TILLB-IV. C-1. D-1I

4. A-1IL, B-1, C- IV, D- 11

Question Number : 229 Question Id : 3421237627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LIST1I LISTII

RefwR Ee gy
szl ThE Bhem| I |mh
ZREME BRI II. |meforso

RESOTTS RER3 | [II. | ReEf

olo|w|e

Tmefs IV. |zrt

Choose the correct answer from the options given below:

1. A-IV, B- 1, C-III, D-1I

[

CA-IV,B-1II, C- L, D- III
3JA-IV,B-III,C- 11, D- 1

4. A-1IV,B- 1, C-1I, D- 111



Question Number : 229 Question Id : 3421237627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
RefkR =

szl THE Bhem| I |mh

ZREMF FRI 1. | maferse

RELOTEE RERE | 111 | Resf

olo|w|e

Tmors IV. | Rt

Choose the correct answer from the options given below:

1.A-IV,B- L C-III, D- I

(i)

A-IV,B-IL C- L D-III

(el

CA-IV,B-1IIL C- 11, D- 1

4. A-IV,B- 1, C-1I, D- III

Question Number : 230 Question Id : 3421237628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
axalmr emswf 7ot
EOT B I |sesam
W TR II. |9sen

Eemefm me 11 | 9%

olo|w|»

UM TafE IV |988k

Choose the correct answer from the options given below:

1.A-I B-1IL, C- 11, D- IV

(i)

CA-ILB-IIL C- 1V, D- 1

(el

CA-TILLB-IV. C-1. D-1I

4. A-IV,B- 1, C-1I, D- III

Question Number : 230 Question Id : 3421237628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
axafm emswf 7ol
&0 R I |esam
WE MRS II. |ss¢s

Eemafm mo I1I. |ss=a

olo|w|e

Tm Waf@e IV, | 9888

Choose the correct answer from the options given below:

1. A-1, B-1II, C-II, D- IV

[

CA-IL B-TIL. C- TV, D-1

(5]

A-TIIHL B- 1V, C- 1, D-1I

4. A-1IV,B- 1, C-1I, D- 111



Question Number : 231 Question Id : 3421237629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII

T T°F T B
A |FreRof &3 | I [seew ® mufmems o
B. |»R° BEH7AT | I [EWHWf OWf whREf dzo!mst
C. |eno & 1. |Ew%mf RO weem T
D. |¥m3f &X IV. |E=0r ARefE W

Choose the correct answer from the options given below:

1.A-L B-1I, C-1I, D- IV

(i)

A-TIL B-1V, C-1, D- 11

(el

A-TLB-1LC-TIV,D-1I

4. A-IV,B-1II, C- 11, D- 1

Question Number : 231 Question Id : 3421237629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

T T°F T B
A |FreRof &3 | I [seew ® mufmems o
B. |»R° BEH7AT | I [EWHWf OWf whREf dzo!mst
C. |eno & 1. |Ew%mf RO weem T
D. |¥m3f &X IV. |E=0r ARefE W

Choose the correct answer from the options given below:

1.A-L B-1I, C-1I, D- IV

(i)

CA-TIL B-1V, C- 1L, D- I

(el

A-TLB-1LC-TIV,D-1I

4. A-IV,B-1II, C- 11, D- 1

Question Number : 232 Question Id : 3421237630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
we's RA wefs RA
A |mEEd L |®x
B. [®® I |BE
C. |mFE III. |RCTRE
D. |»m V. |mme

Choose the correct answer from the options given below:

1. A-II. B-1II, C- IV, D- 1

[

CA-TIL B- TV, C- 111, D- I

(5]

CA-TLB-IILC-1, D- IV

4. A-1II, B-I, C-1II, D- IV



Question Number : 232 Question Id : 3421237630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
wo's RA wafs RA
A |mEEd I |®%
B. |”® II. |FRE
C. |ErR III. |RCmsR%
D. |Bm IV. |mmw

Choose the correct answer from the options given below:

1. A-1I, B-TII, C- IV, D- 1

(i)

A-TLB-1IV, C-HI, D- 1

(el

A-TIL B-1I, C- I, D- IV

4. A-1IL, B-1, C-1II, D- IV

Question Number : 233 Question Id : 3421237631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LIST II
2uafw TES
A |7 aRURfTe T Bra I |Tewrzrae Zoment mEyem
B. |= &R0 T B'rE [I. | Baf i
C. |% AERET TE B°TT III. |ZHAedd ATw
D. |Herrys Bocrse BE ETE@ | IV | 202 &8 T WEERe

Choose the correct answer from the options given below:

1.A-L B-1I, C-1I, D- IV

2.A-ILB-IIL C-L D- IV

(el

CA-II, B-1, C- IV, D- 111

4 A-IIIL B-1II, C- 1L, D- IV

Question Number : 233 Question Id : 3421237631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LIST II
el TKS
A |® #RCEITO TFE ETS [ |Terrray mmenf Jeem
B. |® ¢iREe T TS II. |5°af ¥IEfE
C. |% AERET TE E°TED III. |ZHAe2 ATw
D. |Herrts Bocrtse BE ETee | [V | 202 &8 T WPEERe

Choose the correct answer from the options given below:

l.A-L B-1I, C-1I, D- IV

3

CA-ILB-IILL C-1, D- IV

LS

A-II, B-1, C-1IV, D- I

4. A-III B-1II, C- I, D- IV



Question Number : 234 Question Id : 3421237632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LIST1I LISTIT
9.7.1 Jews wmRE

HIERT TIUTe e [ |97a8 — 9FEa

Rowee g aefdan | 11 [oese — seus

VYT B8 0 III. | esae — 9¢a0

olo|w|e

DWEE RICHR" | TV, | 9F8% - SFel

Choose the correct answer from the options given below:

1.A-L B-1I, C- IV, D- Il

(i)

A-TLB-1IV, C-HI, D- 1

(el

CA-ILB-IIL C- IV, D-1

4 A-IIIL B-1II, C- 1L, D- IV

Question Number : 234 Question Id : 3421237632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LIST1I LISTIT
9.7.1 Jews wmRE

HIERT TIUTe e [ |97a8 — 9FEa

Rowee g aefdan | 11 [oese — seus

VYT B8 0 III. | esae — 9¢a0

olo|w|»

DWEE RICHR" | TV, | 9F8% - SFel

Choose the correct answer from the options given below:

1.A-IB-1IIL, C-1IV, D-III

(i)

A-TLB-1IV, C-HI, D- 1

(el

CA-ILB-IIL C- IV, D-1

4 A-IIIL B-1II, C- 1L, D- IV

Question Number : 235 Question Id : 3421237633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
am oanf A3
A |moE I |3foms
B. |3 II. [T
C. |Tws 1. |=mein
D. |oess IV, |efoEem

Choose the correct answer from the options given below:

1.A-TIL B-1IV, C-1I1, D- I

3

CA-TLB-ILLC-1, D-1IV

LS

CA-ILB-IIL C-1, D- IV

4. A-1IL, B-1, C-1I, D- IV



Question Number : 235 Question Id : 3421237633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
o vraizighit 4
A |EoE I |BfomEn
B. |3 II. [
C. |TwiH 1. |=®ein
D. |oEm IV. |ufosen

Choose the correct answer from the options given below:

1.A-ILB-IV, C-1II, D- 1

(i)

(el

CA-TILB-IILC-1, D- IV

A-IL B-TIL, C- I, D- IV

4. A-1IL, B-1, C-1II, D- IV

Question Number : 236 Question Id : 3421237634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
TRewrf Ko merfAc)
A, |zmEdE I |oBRecrAiy BEnE
B. |ZfoRts II. |ewRefResmeiMET OF%: BIRF
C. |FEs 1. | msmee’ oFRes’ ontsuamesst me: Ermr
D. |mEms IV, | Zew etinew BEnF

Choose the correct answer from the options given below:

1. A-1I, B-TII, C- IV, D- 1

(i)

A-LB-1IL C-11, D- IV

(el

A-LB-TV, C-11, D- III

4. A-1II, B-1IV, C- 1, D- III

Question Number : 236 Question Id : 3421237634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
TRl Ko WertAc)
A |zmEdE I |oEnososty Bxns
B. |3fonRGE II. |erRefResmeiMRT 5% BERF
C. |dirEs I |maEse’ osfes’ ondsrcmast me: @Rme
D. |mrRs V. | 3w ocinEw BERE

Choose the correct answer from the options given below:

1. A-1I, B-TII, C- IV, D- 1

3

A-LB-1IL C-1I, D- IV

(]

CA-LB-TV, C-11, D- III

4. A-1II, B-1IV, C- 1, D- III



Question Number : 237 Question Id : 3421237635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LIST I
anefr E'mRiE XAl
A | mea I |seus
B. |wmufmef simor wksf | 11 |seue
C. |wdcE III. |esee.
D. |Z*Emf daem IV. |se®w

Choose the correct answer from the options given below:

I.A-1L B-1, C-1II, D- IV

(i)

CA-ILB-IIL C-1, D- IV

(el

A-IL B-L C-1IL, D- IV

4. A-LB-1I, C-IV, D- Il

Question Number : 237 Question Id : 3421237635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LIST I
anefr E'mRiE XAl
A |E¥ @'z I |seus
B. |wmufmef simor wksf | 11 |seue
C. |FsteE III. |esee.
D. |Z*Emf daem IV. |se®w

Choose the correct answer from the options given below:

1.A-IL B-1, C-1II, D- IV

(i)

CA-ILB-IIL C-1, D- IV

(el

A-IL B-L C-1IL, D- IV

4. A-LB-1I, C-IV, D- Il

Question Number : 238 Question Id : 3421237636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
2xafr E'msmf XA
wf R°OW TR I |9s88
W 5 ChH AEO I1. |ssae

T° E°RERT 3 Tore | II1. | sses

olo|w|e

R weEs uafmree | TV, |esem

Choose the correct answer from the options given below:

1. A-IV, B- I, C-II, D- III

[

CA-ILB-1 C-1IL, D- IV

(5]

A-L B-1IL C-11, D- IV

4. A-1IL, B-IV, C- 1, D- 11



Question Number : 238 Question Id : 3421237636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
axefr E'msmf XA
il O 2°UR I |csse
7 5 2kt BEO II. |ssae

I* BRI 38 Tovred | II1. | oses

olo|w|e

FTh TR Tafmree | IV, |eeew

Choose the correct answer from the options given below:

1.A-IV,B- 1 C-1I, D- ITI

(i)

CA-IL B- 1 C-1IL, D- IV

(el

A-LB-IIL C-11L, D- 1V

4. A-III. B-IV.C-1. D-1I

Question Number : 239 Question Id : 3421237637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
axefr E'OR’E XA
A |= 5gE Ao0 I |ssae
B. |7wiD B % RANE | II. |ssns
C. |® »afo wix III. |sses
D. |= Wr= IV. |ssee

Choose the correct answer from the options given below:

1.A-ILB-1IV, C- L, D-III

(i)

. A-TILB-LC-ILD-1IV
3. A-II, B-1,C-1IV,D-1II

4. A-1IIL B-II, C- IV, D- 1

Question Number : 239 Question Id : 3421237637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
anefr E'OR’s XA
A |F RoE Fen I |ssae
B. |R°®fm B'e % RADE | 11 |9s%8
C. |® mefo wixe III. |sses
D. |7 mWE= IV. |ssee

Choose the correct answer from the options given below:

1.A-IL B-1IV, C- I, D- III

[

. A-IILL B-L C-1IL, D- IV

(5]

A-II, B-1, C-1V, D- 11l

4, A-IIL B-1I, G-IV, D-1



Question Number : 240 Question Id : 3421237638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LIST1I LISTII
2xafr 1811
EROOTTE I |7em
o HOE EE II. |mBarssef

T4I0 OrERetsRE | 111 |Befam

olo|w|e

oReEaf IV. |oFEgT

Choose the correct answer from the options given below:

1.A-L B-1I, C-1I, D- IV

(i)

CA-TV, B-1II, C- 11, D- 1

(el

CA-IIL B- IV, C-11, D- 1

4. A-1II,B-1, C- IV, D- Il

Question Number : 240 Question Id : 3421237638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LIST1I LISTII
2xafr 1811
EROOTTE I |7em
o HOE EE II. |mBarssef

T4I0 OrERetsRE | 111 |Befam

olo|w|»

oReEaf IV. |oFEgT

Choose the correct answer from the options given below:

1.A-L B-1I, C-1I, D- IV

(i)

CA-TV, B-1II, C- 11, D- 1

(el

CA-IIL B- IV, C-11, D- 1

4. A-1II,B-1, C- IV, D- Il

Sub-Section Number : 2
Sub-Section Id : 342123301
Question Shuffling Allowed : No

Question Id : 3421237639 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (241 to 245)
Question Label : Comprehension

RARMAS FATR SROMNR KRBT 0705 UR B33 TROD 0F 320 (RS0 524) T AR0TE | THE 7°CMHCIars
RIRRD, M5 ERSW RUT U B&Y OFMGK B(1 KOF TIC RTH RTORAM BRI TR0 RTORS 526
(Acfrmf Sm3 52) Se08-08 % O°RNF I KO Mew mHess SowRf T0F 500 Tof OFTENARD TXE BF TRA
QT B7 ETS WROD HEF CPRER EM ¢,86,600 X0 | RHIR BaTMf KO KT WT-NNT U6 TOTRET 00 2
RIT WE°D TROU SeMCT RRFT 29 | oranant WikeRsta Be Rasml cwafs ‘sfo wfEeaechs o°x Tam
AT 7% BT AKC WCOWS KEF TRAST Teal Tiey AR eawwfi ds-nf wHer srsfofosm? ved crant
THOm Ref FoT RURS IR 600 & RS URIOMIT He Brwfse | oofzs TRoD 8% 67°30 Keime! URfofrs
a7 BUE ARFR RWiE | ROF TAT CATE TAFEOT NEUAT NRRORSTE BT TROMT TR RaTef BRIET 25T
&Il pfofne ERRS AR50 Ba07E TR BT ART Wi

Sub questions

Question Number : 241 Question Id : 3421237640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HOMT FZOMT AET WOFE R :

l. =g 52

o]

. OTWf W&°T
3. BIORT 3o
4. om a7

Question Number : 242 Question Id : 3421237641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aefrmf ‘Meaf WenfeR’ ART Weefs KEF TOf ACT RUORFSHT:

|. Ffo WrETREOTTH O°F

[

. AE Hoed
3. oymen Boo

4. Zmm3 32

Question Number : 243 Question Id : 3421237642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘o WIEEROTTH O™ AHON RUOEE KEFRT:

|. s mREnt RREOREUS Be'd BSE

(g

. A9 W51 AR RUOEE EEF
3. U meey RRE JReem

4. afr &RfE

Question Number : 244 Question Id : 3421237643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T WET W ROFHT:

|. emfofor @53 85 Rasmmf

[

. B&°T% TR WE S@smmf

L]

. O LTHC B BT T HIWF

4. oMoy mT TR Rafe! BT Bntsme

Question Number : 245 Question Id : 3421237644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Feat MU WaeT B Rwsml Rawsf:

|. omf dUrRe EFE WaeTs TR ERCImmT KRB

[

. UMT TN K74 OfTRT ERSTMNT RR5TT
3. WER ERSTOIIEMT et CUs S amm R ws

4. BWEoTmT M0 ACGOTINT R ms

Question Id : 3421237639 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (241 to 245)
Question Label : Comprehension

BERMAOE KATK CROTNR FREY OF0% N Hi°7 TROD OFY 520 (RSC 508) TUT® AROFRTI THE ZCMCIETE
RIAEN, Mk ERSW @RUT U B&T OFMOR WM EOF URC KT ETORAM ERD SR RTORT 2o
(Acfwrmf Sm3 2) Se08-08 % ORNT I KOPR Wew m@ess JowRfI 0% 520 Tof OFTIMERD TXE BF TRA
WG B7 ETS WROD CHEF CPRER EM ¢,86,600 X0 | RHIR BaTnf KO ROT WNC-BNT SUETETRET 00 1
RIE WED THOU SeOCT RRIT 29 | oranant WRseRsTa B5= Rasnf cra(y ‘sfo wfEeaects o°x Tam
AT 7% BT AKC WCOWS KEF THRRT Teal Ty AR Noewwnfi de-anf wHEr srsfofuam? ved crant
THIm Ref 30T RUIRS IR 680 & R ORI BET Bowfael oofzs TROD 8% 67°30 Reimet onfofrs
a7 BUE ARER RWIE | ROF TAT CATW TAFEOT NEUAT NRKGRSTE B3 TROMT TR RaTol BRIEmT 25T
&l Tl BRRS AREC Ba-018 TR HET ART WOwf |

Sub questions

Question Number : 241 Question Id : 3421237640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HOMT FZOMT AET WOFE R :

l. =g 52

o]

. OTWf W&°T
3. BIORT 3o
4. om a7

Question Number : 242 Question Id : 3421237641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aefrmf ‘Meaf WenfeR’ ART Weefs KEF TOf ACT RUORFSHT:

|. Ffo WrETREOTTH O°F

[

. AE Hoed
3. oymen Boo

4. Zmm3 32

Question Number : 243 Question Id : 3421237642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘o WIEEROTTH O™ AHON RUOEE KEFRT:

|. s mREnt RREOREUS Be'd BSE

(g

. A9 W51 AR RUOEE EEF
3. U meey RRE JReem

4. afr &RfE

Question Number : 244 Question Id : 3421237643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T WET W ROFHT:

|. emfofor @53 85 Rasmmf

[

. B&°T% TR WE S@smmf

L]

. O LTHC B BT T HIWF

4. oMoy mT TR Rafe! BT Bntsme

Question Number : 245 Question Id : 3421237644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Feat MU WaeT B Rwsml Rawsf:

|. omf dUrRe EFE WaeTs TR ERCImmT KRB

[

. UMT TN K74 OfTRT ERSTMNT RR5TT
3. WER ERSTOIIEMT et CUs S amm R ws

4. BWEoTmT M0 ACGOTINT R ms

Sub-Section Number : 3
Sub-Section Id : 342123302
Question Shuffling Allowed : No

Question Id : 3421237645 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (246 to 250)
Question Label : Comprehension

FUFMEME BIRE TROD 53140 U788 OB'CE BRT KRN0 CaTs, ofkeed MiTats #f: of: ZROCM & &IC(EUNFE
AT Rac A5ee mY) mes 7% - axatret C.J. LYALL vaf R2%Tw RerneerE R rmaset 250 ofaaw |
AROE KO wofongs WeffEe Ters THewk | seffo Takfeionesis Gomommd W4Hes JIs 5o
CERT WaTE T WHaTE B 508 & & A Bmwll anefr wef David Nutt, 57,59 Long Acre, London v
EUST | BRUGR AROT EF3AIZE MOPE08 TRN I SRafTol 3f: To: WEfofl Bamaeoe, afEfoe efmares
FAIOE B $6%¢ & METHE"| SRafTof MET MEAN M7 207 RFETHI 50T RORT BFEeizR TTtme et

MEPEON TR TRYI50 RATET SRfTo! OB'C00MT 7°E0 220 T8N ROF TR THat | U6 RATT KD CWE
T RRDNT 0T8T TEOSONIT RorsofDas TPss Resmn’ RS, EB°d REEoRoo IR WE TMIET ERURsant &
Raiz 758 CRAMTOM XRFTS TROT TATE FCEWROE B 398 507 I

Sub questions



Question Number : 246 Question Id : 3421237646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BNz hows . uf. AROCNT TO0S ERfmRt:

[,

. TR0 BT AROE

[

. Bt BHTE AROT
3. T'Re B ez AROET

4. T'he) HOOE AROE

Question Number : 247 Question Id : 3421237647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¥ RC B RaUNEETET BT INAETT ARSI RAOFAT Rty mmf:

l. meofes fozms

(o

. RECHE™T Fusmf
3. cantsEtE Cosmf

4. eremRisate Tosmnf

Question Number : 248 Question Id : 3421237648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reemo Ml EBORCT AROTT THAFNT FET BTU MOFS GEIH:

. Zotwtomf TeREfTiome-3sin TEOo

[

1) Ko T R A A )
3. FOF cERENT T

4. mersafzmf motEemom

Question Number : 249 Question Id : 3421237649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AROCMT 57 Bxe Wf BRHERNT MerBEHT:

|. @m3 FEFokReofom s FEUS

[

. Zafnfe TEfOomfor THATE FEEQR"MT MIOFE
3. Eefont FErREEIEY T NSE RET HNEE

4. @efmm BrT wewT BITreEs

Question Number : 250 Question Id : 3421237650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7 ERe AKS oRaflref B IF hRREs ANeE:

l. mefment Teofomn-es KCelw BT TTTs THaT

[

. \eREefes T THefi
3. BT FEREC otz TT TR I

4. sofmie ToRRiTfoma=mim Samfom Jaf |

Question Id : 3421237645 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (246 to 250)

Question Label : Comprehension

FUfmEMf BIRG TROD 53140 U788 OB'CH BRT KRN0 CUaTs, ofkeed Mivats »f: of: ZROEM & &¥c(EUNFE
T Rac A%C M) mes 7% - axatret C.J. LYALL vat R2%'T Rer et Rrmaset 250 ofIaaws |
AROT KU, TefomeTs MermEed T2Ts TRIFET I Barnie TRRITTORIHE amfomn’ 408 M5 5on
TERT WETE TT WHTE B ss0¢ & & Avc Bowfl axefr wef David Nutt, 57,59 Long Acre, London ©
ET5T | BRUSR AROT EFEAZH MOPE08 TRN I SRafTol 3f: To: MEfofl EBamaeo, afEfoe efmarey
FAIOT B %639 § METHARI RATTO! MET MEAN BOT £ RFETHI FROT RORT BFELTCR T meeimt
MEPEOn TR TRYI50 RATET SRafmol OB'3onilr 7°C0 220 78Nt ROF TR THeT| U6 RATT KD CWE
T RRDNT QTR TEOSOMT Borsoflas ToFss Resmm’ TRR! 7 REEoROoIR ME TMIET ERURsant &
Raiz 758 CRAMTOM XEFTE TROT TATE RCEWROT B REE 500 I

Sub questions

Question Number : 246 Question Id : 3421237646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BNz hows . uf. AROCNT TO0S ERfmRt:

|. TR BOTT AEOE

[

. Bt BHTE AROT
3. T'Re B ez AROET

4. T'he) HOOE AROE

Question Number : 247 Question Id : 3421237647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¥ RC B RaUNEETET BT INAETT ARSI RAOFAT Rty mmf:

1. meemfeta Fezms

(o

. RECHE™T Fusmf
3. cantsEtE Cosmf

4. eremRisate Tosmnf

Question Number : 248 Question Id : 3421237648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reemo Ml EBORCT AROTT THAFNT FET BTU MOFS GEIH:

. Zotwtomf TeREfTiome-3sin TEOo

[

. ety eITscTss Taf Fef e e T
3. BOF ceRent T

4. mersafzmf motEemom

Question Number : 249 Question Id : 3421237649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AROEMT 5 Bxe W ERHERNT MersEHT:

|. @m3 FEFokReofom s FEUS

[

. Zafnfe TEfOomfor THATE FEEQR"MT MIOFE
3. Eefont FErREEIEY T NSE RET HNEE

4. @efmm BrT wewT BITreEs

Question Number : 250 Question Id : 3421237650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7 ERe AKS oRaflref B IF hRREs ANeE:

l. mefment Teofomn-es KCelw BT TTTs THaT

[

. \eREefes T THefi
3. BT FEREC otz TT TR I

4. sofmie ToRRiTfoma=mim Samfom Jaf |





